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| L 3 A Y
2012510 §1H~20134E3H30AKES BEEXR(THBEER) JTA/RAC
RKAEREE INREBEE S AREANEEZIS| E1EZI5|
X fal

EEH | E-8 | @FEH 51RO | E—V8 B51RQ| TE  FEIERD BEIRQ| EFH BE51RO|E—0H | BI5IERQ
1 | BR= ‘=%%(3§[S§) JTA 40,800 | 42,900 [ 20,400 50%] 21,450 50%| 26,100 36% 39%| 36,800 10%| 38,500 10%
2 thJi— i (ARER) JTA 34,200 | 36,400 | 17,100 50%] 18,200 50%] 21,900 36% 40%| 31,200 9%| 32,600 10%
3 | R =1 %) JTA 27,500 | 29,600 | 13,750 50%] 14,800 50%| 17,600 36% 41%| 25,100 9%| 26,200 11%
4 ia Eia JTA 59,300 | 61,500 | 29,650 50%] 30,750 50%] 37,950 36% 38%| 51,000 14%| 53,400 13%
5 | ER=8\H JTA 55,500 | 57,700 | 27,750 50%] 28,850 50%| 35,500 36% 38%| 47,700 14%| 50,000 13%
6 | KBR=F1E JTA 48,400 | 50,600 [ 24,200 50%] 25,300 50%| 31,000 36% 39%| 42,000 13%| 43,900 13%
7 | =443 (FBFR) JTA 40,800 | 42,900 [ 20,400 50%] 21,450 50%| 26,100 36% 39%| 36,700 10%| 38,400 10%
8 | A E=%# (i) JTA 38,600 | 40,800 | 19,300 50%] 20,400 50%| 24,700 36% 39%| 34,800 10%| 36,400 11%
9 | M=k GiEH) JTA 34,200 | 36,400 | 17,100 50%] 18,200 50%] 21,900 36% 40%| 30,600 11%] 31,900 12%
10 | +#E (BBH) =R JTA/RAC| 23,000 | 24,100 | 11,500 50%] 12,050 50%| 14,700 36% 39%| 19,700 14%| 20,500 15%
11 | 8 (BB =25 JTA/RAC| 17,500 | 18,600 | 8,750 50% 9,300 50%] 11,200 36% 40%| 15,000 14%| 15,700 16%
12 | REE=EH RAC 11,900 | 12,400 | 5,950 50% 6,200 50%] 7,600 36% 39%| 10,400 13%| 10,800 13%
13 | H#E (&) =AXKE JTA/RAC| 11,800 [ 12,300 | 5,700 52% 5,700 54%] 7,550 36% 39%| 10,200 14%| 10,700 13%
14 | RiE=5E#E JTA/RAC| 11,800 [ 12,300 | 4,150 65% 4,300 65%] 7,550 36% 39%] 7,150 39% 7,500 39%
15 | 48 (AR%R) =55 RAC 14,200 | 15,300 [ 7,100 50%| 7,650 50%| 9,100 36% 41%| 12,900 9%| 13,900 9%
16 | 448 (A8 =EBEXE RAC 23,300 | 24,400 | 11,650 50%] 12,200 50%|] 14,900 36% 39%| 21,200 9%| 22,200 9%
17 | H48 (B38R) = KK RAC 24,900 | 24900 8,700 65% 8,700 65%| 15,950 36% 36%| 15,800 37%| 15,800 37%
18 | 48 (AlgR) =t KE RAC 24,900 | 24900 8,700 65% 8,700 65%| 15,950 36% 36%| 15,800 37%] 15,800 37%
19 | mRE=JKXE RAC 8300 | 8300 2900 65% 2,900 65%| 5,300 36% 36%| 5,300 36% 5,300 36%
20 | EH=%EH RAC 8500 | 8500 [ 3,000 65% 3,000 65%] 5,450 36% 36% 5,450 36% 5,450 36%
| 21 | s (FR5R) =53 E RAC 31,700 | 33.400 | 11,100 65%] 11,700 65%| 20,300 36% 39%] 19,000 40%] 19,900 40%
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JTA/RAC

RAAAAR

TR FEIEOD FERQ|EEY RXO| E—IH H3RQ

48%
47%
46%

25,600 40%)

50%
50%
49%

48%
48%
47%
47%

ETRREOR
=h9 HAF 13X

10/1-12/6  FIBI1ED | 1/7-3/7  FI51RD 12/14-12/28 E|51RQ) 3/8-3/30 10/1-12/6 1/1-3/1 | BI51%ED

JTA 36,300 11%] 36.30 42,40 42,40 35,500 13%

JTA 30,100 12%] 30,10 35,90 35,90 29,000 15%

3 JTA 23,800 13%| 23,80 29,10 29,10 22,500 18%
4 JTA 50,500 15%| 50,50 61,00 61,00 42,850 28%
5 JTA 47,200 15%| 47,20 57,20 57,20 40,40 27%
6 JTA 41,500 14%| 41,50 50,10 50,10 35,50 27%
7 JTA 36,200 11%] 36,20 42,40 42,40 33,40 18%
8 3 JTA 32,650 15%| 32,650 40,30 40,30 31,00 20%
9 | FE=:P (BE) JTA 30,100 12%] 30.100 35,90 35,90 27,750 19%
10 | 048 (B 8) =FH18 JTA/RAG 19,000 17%] 19,000 23,60 23,60 17,200 25%
11 | AEGRE) ==& JTA/RAC 9,900 43%| 14,500 9.90 4 18,10( 9,800 25%
12 | AiE=EH RAG 9,900 17%]  9.900 10,80 1 10,80 8,650 27%
13 | (R =AKE JTA/RAC 9,700 18%| 9,700 11.80( 11.80 8,600 27%
14 E=5HE JTA/RAG 9,700 18% 9,70 11,801 11,801 8,600 27%
15 B =55 RAC 12,400 13%] 12,40 14,801 14,801 12,300 13%
16 RAC 20,700 11%] 20,70 23,90 23,90 19,950 14%
17 RAC 22,100 11%] 22,10 22,60 22,60 21,150 15%
18 RAC 22,100 11%] 22,10 22,60 22,60 21,150 15%
19 RAC 7.100 14% 710 7.60 7.600 7.050 15%
20 | EE=% R RAC 7300 14%] 7300 7.800 7.800 7.250 15%
21 | @B =5BE RAC 26,600 16%] 26,600 32,900 32,900 21,750 31%

X [ESRRESR, eEI%RZE

HAR=ILAR. Eir=%RARIC
1 12/6,_1/7-3/1

FClihs

F L))
® GRE) =HE. B9, 7\*%;@5%\ BEAL, AR, LXK, 5BE. FE=F4H. 5HE.
i

12/7-12/20,_3/8-3/14 __#ARIM : 12/21-1/6. 3/15-3/30

TUERERCBRISER
#BRA T : 10/1-12/6, 1/7-3/7

3P0

12/1-12/13 3RS m

48%

FBIEDBEY TRASBER IR
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2012F10A1 B ~20135F3A30B B FES EER(HLbdevMILEIF], HBIIL/AN—ZIF]) JTA/RAC

LR JLAN—ZE|F]
N =
=P BLtdeT /LA R 1 R T SR

B BEIRD B5IRQ| HEI  B5RQ|( TE  BEIEO BEIRQ| FE OBSIRQ| FHE  BEIEQ
1| BEE=4#E G5 JTA 12,500 69% 71%] 15,000 65%] 12,000 71% 72%] 16,000 63%] 16,000 63%
2 | RBR=H#EGrEH) JTA 12,500 63% 66% 15,000 59%] 12,000 65% 67%] 16,000 56%] 16,000 56%
3 | ERE=HEGH) JTA 10,000 64% 66%| 12,500 58% 12,000 56% 59%| 16,000 46%| 16,000 46%
4 | FE=HAi8 JTA 15,000 75% 76%] 17,500 72%] 24,000 60% 61%] 32,000 48%] 32,000 48%
5 | RR=EH JTA 15,000 73% 74%] 17,500 70%] 24,000 57% 58%| 32,000 45%|] 32,000 45%
6 | RKilx=F1i8 JTA 12,500 74% 75%] 15,000 70%] 24,000 50% 53%] 32,000 37%] 32,000 37%
7 | =98 (GRER) JTA 12,500 69% 71%] 15,000 65%] 20,000 51% 53%| 25,000 42%] 25,000 42%
8 | BEE=F# G [ JTA 12,500 68% 69%| 15,000 63%| 12,000 69% 71%| 16,000 61%| 16,000 61%
9 | Ml=9 (GRER) JTA 12,500 63% 66% 15,000 59%] 12,000 65% 67% 16,000 56%] 16,000 56%
10 | 48 (BRE;/) =418 |JTA/RAC| 10,000 57% 59%| 10,000 59%] 12,000 48% 50%] 16,000 34%] 16,000 34%
11| HfEGRE) =294  |JTa/Rac] 7,000 60% 62% 7,000 62%] 12,000 31% 35%] 16,000 14%| 16,000 14%
12| AEE=2% RAC 7,000 41% 449 7,000 44% 8,000 33% 35%] 10,000 19%] 10,000 19%
13 | 4§ GRER) =AXKE |UTA/RAC 7,000 41% 43% 7,000 43% 8,000 32% 35%] 10,000 19%] 10,000 19%
14| AiEE=5EH Jta/Rac] 7,000 41% 43% 7,000 43% 8,000 32% 35%] 10,000 19%] 10,000 19%
15 | 448 (BH) =5 RAC 7,000 51% 54% 7,000 54%| —- — — — — —— —
16 | H#BGREH) =EEKXE| RAC 12,500 46% 49%] 12,500 49%] — — —— — — — —
17 | 48 (BBFH) = AE | RAC 12,500 50% 50%| 12,500 50%] —- — — — — —— —
18 | 448 (BFH) =dtXFE | RAC 12,500 50% 50%| 12,500 50%] —- — — — — —— —
19| BXE=JFKXHE RAC 7,000 16% 16% 7,000 16%] — — —— — — — —
20| =H=%EH RAC 7,000 18% 18% 7,000 18%] — — —— — — — —
21 | H#E(REF;) =5ME | RAC 12,500 61% 63%| 12,500 63%| 16,000 | 50% 52% | 22,000 | 34% | 22,000 34%

XBF=FE. BHE=204. GE=EH. BE=AXE. GIE=5IEHRDORACEIZ(XTEEHEEHZI5]]. IWELCOME TO JAPAN]. 'YOKOSO(visit) Japan Pass]. [OKINAWA Island Pass| DEREILHYFEE A

B5IED: BEH TKASEES Wt
BI5I1EQ: E—VHI K AT BER IxfLE



JTA/RAC

P HREEEIS (KA) YRIEREISI(NR) DSRIHE HAREHS AyFr—$i& Rybgig BAFHIEE BUHF e
EEE BI51FE0 | BI51%EQ EEE 51D | EI51FEQ@ EEE EE8 EEE EE8 E3E X4
1 | ER="#EG%H) JTA — — — — — — 1,000 10,000 58,800 5,000 300 D
2 | Kir=;#E (3 5) JTA — — — — — — 1,000 10,000 49,000 5,000 300 [
3 | 1B = () JTA — — — — — — 1,000 10,000 38,700 5,000 300 B
4 | ERE=FHIE JTA — — — — — — 1,000 10,000 85,600 5,000 300 D
5 | EE==w JTA — — — — — — 1,000 10,000 79,800 5,000 300 D
6 | Kfx=RiE JTA — — — — — — 1,000 10,000 71,200 5,000 300 D
7| =B (FRER) JTA — — — — — — 1,000 10,000 58,600 5,000 300 D
8 | FEE=H#EG%H) JTA — — — — — — 1,000 10,000 55,200 5,000 300 C
9 | Eil=4 G JTA — — — — — — 1,000 10,000 47,800 5,000 300 [
10 | H{E(GRER) =Hi8 JTA/RAC — — — — — — 1,000 5,000 31,900 3,000 200 B
1| A @) =4 JTA/RAC — — — — — — 1,000 5,000 24,400 3,000 200 E
12 | AiE=FH RAC — — — — — — — 5,000 16,200 3,000 200 A
13 | AR =AXE JTA/RAC — — — — — — 1,000 5,000 16,000 3,000 200 A
14 | AIE=ERHEH JTA/RAC — — — — — — 1,000 5,000 16,000 3,000 200 A
15 | AR =5 RAC — — — — — — — 5,000 23,200 3,000 200 A
16 | HEBH) =BEXXE RAC — — — — — — — 5,000 39,400 3,000 200 B
17 | R (RER) =B AR RAC 9,700 61% 61% 4,900 80% 80% -— 5,000 42,200 3,000 200 B
18 | i (FBFR) =4 KK RAC 9,700 61% 61% 4,900 80% 80% -— 5,000 42,200 3,000 200 B
19 | mAE=JFKXE RAC 3,300 60% 60% 1,700 80% 80% -— 3,000 12,400 3,000 200 A
20 | EH=%EMH RAC 3,400 60% 60% 1,700 80% 80% — 3,000 23,200 3,000 200 A
21 | #ERH) =51F RAC o — — — o o — 5,000 45,600 3,000 200 C

XRACEIZIEISAIHEIDREIEHYELE A,
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JAL/JTA/JAC/RAC

FEEE

[ J&E& i E " = = = = = = = =
Cinns | BIBIE® | YR | #BIED | M #51x | WL #5Ee| RS #I5IEQ
HiE— 8 (BEH) JTA RIE— A GRE) 9,400 59%| 9,400 59% 9,700 60% 9,700 60% 9,700 60%
RE-BH RAC RiE—=H 4,900 59%] 4,900 59% 4,900 60% 4,900 60% 4,900 60%)
RiE-51E JTA/RAC RE—5KE 4,900 58%] 4,900 58% 4,900 60% 4,900 60% 4,900 60%)
RIE—FR JTA RIE—FR 40,700 31%] 40,700 31%] 41,200 33% 41,200 33% 41,200 33%)
AE-FR JTA RIE— A GR) 14,500 37%| 14,500 37% 14,700 39%| 14,700 39% 14,700 39%)
JAL/JTA B (B — /R 26,200 36%| 26,200 36% 26,500 38% 26,500 38% 26,500 38%
(b4 (ARER) ) it 40,700 36%| 40,700 36% 41,200 39% 41,200 39%| 41,200 39%
[ PN JTA FiE— KR 33,500 31%] 33,500 31% 33,950 33% 33,950 33% 33950 33%)
FiE— KR JTA RIE— A GR) 14,500 37%| 14,500 37% 14,700 39% 14,700 39% 14,700 39%)
JAL/JTA PR (ARER) — KR 19,000 44%| 19,000 44% 19,250 47% 19,250 47% 19,250 47%
(48 (%)) it 33,500 41%| 33,500 41%| 33,950 44%| 33,950 44% 33,950 44%
nlE—2EE JTA RIE— AR 14,500 37%| 14,500 37% 14,700 39% 14,700 39% 14,700 39%)
JTA (R —&EE 24,150 37%| 24,150 37% 24,750 39% 24,750 39% 24,750 39%
48 (ARER) ] it 38,650 37%| 38,650 37% 39,450 39% 39,450 39% 39,450 39%
RIE—ER JTA RIE— A GER) 14,500 37%| 14,500 37% 14,700 39%| 14,700 39% 14,700 39%)
JTA B (ARER) — 1= 16,100 41%| 16,100 41% 17,250 42% 17,250 42% 17,250 42%
(b4 (ARER) ) it 30,600 39%| 30,600 39% 31,950 41%| 31,950 41% 31,950 41%
BE— A G8R) JTA/RAC | B — 48 (A5 9,800 44%| 11,950 32% 9,800 47% 9,800 47% 12,550 33%
Eh—ER JTA BEEH-EER 38,100 31%] 38,100 31% 38,700 33% 38,700 33% 38,700 33%)
=i — KR JTA/RAC | B — i (I&H) 9,800 44%| 11,000 37% 9,800 47% 9,800 47% 11,200 40%)
JAL/JTA P (ARER) — KR 21,050 38%| 21,050 38% 22,300 39% 22,300 39% 22,300 39%
(48 (%)) it 30,850 40%| 32,050 38% 32,100 42%| 32,100 42% 33,500 39%
AXKE— 4 (BB | JTA/RAC | AXE—H# (FH) 4,900 58%| 4,900 58% 4,900 60% 4,900 60% 4,900 60%
5 BRE — 48 (FRFR) RAC 5 BRE — 48 (FRFR) 12,900 59%| 12,900 59% 13,300 60% 13,300 60% 13,300 60%
BRE—EEXE JAC BRE—EEXE 15,750 32%| 15,750 32% 16,150 36% 16,150 36% 16,150 36%)
ERE—EZE JAC ERE—E2E 18,500 31%| 18,500 31%| 18,500 36% 18,500 36% 18,500 36%)
ERE—ETS JAC ERE—ETS 9,200 27% 9,200 27% 9,200 27% 9,200 27% 9,200 27%
ERE—EAS JAC ERE—EAS 10,200 27%| 10,200 27% 10,200 27% 10,200 27% 10,200 27%
ERE—-ERE JAC ERE—ERS 18,250 25%| 18,250 25% 18,250 25% 18,250 25%] 18,250 25%)
BRE—HKBE JAC BRE—HKBE 22,350 24%| 22,350 24%| 22,350 24%| 22,350 24% 22,350 24%)
BRE—5H JAC BRE—5#H 23,500 24%| 23,500 24%| 23,500 24%| 23,500 24% 23,500 24%
BEXE—ERE JAC EEXE-ERE 6,800 28%| 6,800 28% 6,800 28% 6,800 28% 6,800 28%)
BEXE—HEZE JAC EEXE—E2E 9,750 27% 9,750 27% 9,750 27% 9,750 27% 9,750 27%
EEXE—PKEER JAC EEAE—HKEER 12,450 26%| 12,450 26% 12,450 26% 12,450 26% 12,450 26%
TEKE -k B JAC EEXE-5#® 8,000 59%| 8,000 59% 8,000 59% 8,000 59% 8,000 59%)
JAC 5ifk—Hk RER 4,450 56%| 4,450 56% 4,450 56% 4,450 56% 4,450 56%
(5 it 12,450 58%| 12,450 58%| 12,450 58%| 12,450 58% 12,450 58%)
TERE—5RHR JAC EEXE-5#H 14,600 26%| 14,600 26%| 14,600 26%| 14,600 26% 14,600 26%)
EEXEXE-5#H JAC EERE—HKERER 9,200 45% 9,200 45% 9,200 45% 9,200 45% 9,200 45%)
JAC HKBE-5i 5,400 46%| 5,400 46% 5,400 46% 5,400 46% 5,400 46%
[k BER) it 14,600 46%| 14,600 46%| 14,600 46%| 14,600 46%| 14,600 46%)
HKBE—5HR JAC HKBE—-5i 7,150 29% 7,150 29% 7,150 29% 7,150 29% 7,150 29%
HE Rk JAC HE— Rk 9,550 22%| 9,550 22% 9,550 22% 9,550 22% 9,550 22%
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JTA/RAC 2012/10/30

EE@EAR ;- 2012/10/31 ~

12/21,25
= B2 =m Taa TRET L p— p—
AR SR % | gy 2 sy | EEE % | BEE EERE
HEE(RER) == | R GRE) F[_NUS51 Al H .40 Bl H 6.10 400 .000
RAC801 Bl BIH 5.90 ,200 4,800
NU557 Bl BIH 6.00 .300 4,900
NU561 B Eil= 5.90 ,200 4,800
NU565 B Eil= 5.90 ,200 4,800
NU569 B BIH 5.90 ,200 4,800
NU571 Bl BIH 5,90 ,200 4,800
NU573 B I BiE 6,00 ,300 4,900
BaR NU552 Bl A IE 6.10 400 .000
NU556 Bl BIH 5.90 ,200 4,800
NU558 Bl BIH 6.00 ,300 4,900
NU562 Bl BIH 5.90 ,200 4,800
NU564 Bl BIH 5.90( ,200 4,800
NU570 Bl BIH 5.90( ,200 4,800
NU572 Bl BIH 5.90( ,200 4,800
RAC804 | &l i BIH 5,90 ,200 4,800
BEh=FA1E EEES RAC831 B 9,80 B E 9,60 9,800 —
RAC833 | &l 9,80 BB 8,30 9,800
RAC837 | &l 9.80 BB 9,60 9,800
BER RAC832 | B 9,80 il 9,60 9,800
RAC834 | &l 9.80( BB 8,30 9,800
RAC838 | &l 9,80 BB 9,60 9,800
AR (BB =AKE |48 (BER) F[_RACST1 | BT 9,60 IE 9,00 9,600
RAC873 | &l 9,60 BB 9,00 9,600
RAC875 | &l 9,60 BB 9,00 9,600
RAC877 | &l 9,60 BB 9,00 9,600
RAC879 | &l 9,60 BB 9,00 9,600
RAC881 B 9,60 BB 9,00 9,600
AkBF [ RAC872 | &I 9,60 il H 9,00 9,600
RAC874 | &l 9,60 BB 9,00 9,600
RAC876 | &l 9,60 BB 9,00 9,600
RAC878 | &l 9,60 BB 9,00 9,600
RAC870 | &l 9,60 BB 9,00 9,600
RAC882 | &l 9,60 BB 9,00 9,600
GE=51E RIER RAC807 | &I 9,60 IE 9,00 9,600
S57RESE | RAC806 | &l 9,60 IE 9,00 9,600 -—
4B (&) =S5 HE HAE(IE) %[ RAC889 | AT 26,500 BIE [ 26.100 26,500 -—
SIES | RAC8S0 | i 26,500 BIH 26,100 26,500 —




I' EI 1/3 ‘E 1 2 26 ~28 JTA/RAC 2012/10/30
EEBAR - 2012/10/31 ~
12/26-27 12/28
X e B 447°A 447'B 447°C 447D 447°A 447'B 447°C 447D
EEE EEE EERE EERE EEE EEE EEE EEE
MR =25 SEE (FRER) | NU551 8,400 7,000 6,100 5,000 8,400 7,000 6,100 5,000
RAC801 8,200 6,800 5,900 4,800 8,200 6,800 5,900 4,800
NU557 8,300 6,900 6,000 4,900 8,300 6,900 6,000 4,900
NU561 8,200 6,800 5,900 4,800 8,200 6,800 5,900 4,800
NU565 8,200 6,800 5,900 4,800 8,200 6,800 5,900 4,800
NU569 8,200 6,800 5,900 4,800 8,200 6,800 5,900 4,800
NU571 8,200 6,800 5,900 4,800 8,200 6,800 5,900 4,800
NU573 8,300 6,900 6,000 4,900 8,300 6,900 6,000 4,900
EEHH NU552 8,400 7,000 6,100 5,000 8,400 7,000 6,100 5,000
NU556 8,200 6,800 5,900 4,800 8,200 6,800 5,900 4,800
NU558 8,300 6,900 6,000 4,900 8,300 6,900 6,000 4,900
NU562 8,200 6,800 5,900 4,800 8,200 6,800 5,900 4,800
NU564 8,200 6,800 5,900 4,800 8,200 6,800 5,900 4,800
NU570 8,200 6,800 5,900 4,800 8,200 6,800 5,900 4,800
NU572 8,200 6,800 5,900 4,800 8,200 6,800 5,900 4,800
RAC804 8,200 6,800 5,900 4,800 8,200 6,800 5,900 4,800
Eh=RiE EHHE RAC831 9,800 9,700 9,600 — 9,800 9,700 9,600 —
RAC833 9,800 8,800 8,300 — 9,800 8,800 8,300 —
RAC837 9,800 9,700 9,600 — 9,800 9,700 9,600 —
RER RAC832 9,800 9,700 9,600 — 9,800 9,700 9,600 —
RAC834 9,800 8,800 8,300 — 9,800 8,800 8,300 —
RAC838 9,800 9,700 9,600 — 9,800 9,700 9,600 —
BB =AXE EE (FRER) | _RACS71 9,600 9,300 9,000 — 9,600 9,300 9,000 —
RAC873 9,600 9,300 9,000 — 9,600 9,300 9,000 —
RAC875 9,600 9,300 9,000 — 9,600 9,300 9,000 —
RAC877 9,600 9,300 9,000 — 9,600 9,300 9,000 —
RAC879 9,600 9,300 9,000 — 9,600 9,300 9,000 —
RAC881 9,600 9,300 9,000 — 9,600 9,300 9,000 —
AXE% | RAC872 9,600 9,300 9,000 — 9,600 9,300 9,000 —
RAC874 9,600 9,300 9,000 — 9,600 9,300 9,000 —
RAC876 9,600 9,300 9,000 — 9,600 9,300 9,000 —
RAC878 9,600 9,300 9,000 — 9,600 9,300 9,000 —
RAC870 9,600 9,300 9,000 — 9,600 9,300 9,000 —
RAC882 9,600 9,300 9,000 — 9,600 9,300 9,000 —
RiE=5BE FiE 5 RAC807 9,600 9,300 9,000 — 9,600 9,300 9,000 —
5FEH | RACS06 9,600 9,300 9,000 — 9,600 9,300 9,000 —
HiE (A E) =51E S48 (F82R) | RACS89 26,500 26,300 26,100 — 26,500 26,300 26,100 —
S5HEZ% | RACSS80 26,500 26,300 26,100 —— 26,500 26,300 26,100 ——




I' 1 2 1 ~21 25 JTA/RAC 2012/10/30
BEEAR : 2012/10/31 ~
12/1-21,25
34TA
B BE 38 T aap BEH W e 0 arm oy
BEAMER TR 2k | #I5) " BEARE T "
RS CRE) =48 () | 548 BH %[ _NU904 | 28HAT | 16,200 | 60% 62% 45HF] | 14,500
NU078 | 28HEI | 17,300 | 58% 60% 45HH] | 16,500
RBR (BT =48 (B%) | KMR (A7) %[ NU273 | 28HBI | 15000 [ 56% 59% 45HF] | 14,300
NU277 | 28HEI | 13,000 | 62% 64% |4 45H7] | 11,300
NU279 | 28HEI | 13,000 | 62% 64% | AH:15000, %:16,000, +:14,000 | 45H7] | 11,300
P# (RER) [ _NU270 | 28HAT | 13,000 | 62% 64% 45H7] | 11,300
NU274 | 28H I | 13,000 | 62% 64% 45H7] | 11,300
NUO084 | 28HEI | 17,000 | 50% 53% | H:19,000 45HE] | 14,300
NU280 | 28HEI | 17,000 | 50% 53% | H:18,500 45HFT | 14,300
120 = (R ER) EEES NUO51 | 28H®T | 16,000 [ 42% 46% | H:15,000 45831 | 15500
NUO053 | 28HAEI | 15000 | 45% 49% % 1:16,000, H:14,000 45HE] | 14,500 % 1:15,500, H:13,500
NUO57 | 28HEI | 12500 | 55% 58% 3,600, 1:13,000 45HF] | 12,000 2:13,100, +:12,500
NUO61 | 28H AT | 12500 | 55% 58% 4,600, +:13,000, H:14,000 | 45B 31 | 12,000 100, £:12,500, H:13,500
NU063 | 28EEI | 14,000 | 49% 53% 45HF] | 13,500
NU065 | 28EEI | 14,000 | 49% 53% 45HF] | 13,500
48 (FRER) [ _NU050 | 28HET | 12,500 | 55% 58% 45HF] | 12,000
NUO052 | 28HEI | 12500 | 55% 58% 45HF] | 12,000
NUO54 | 28H Al | 12500 | 55% 58% 45HH] | 12,000 ]
NUO056 | 28HEI | 13500 | 51% 54% 45HHF] | 13,000 4,100, B:15,000
NUO60 | 28EEI | 14,000 | 49% 53% 45HF] | 13,500
NU062 | 28H I | 15000 | 45% 49% 45HE] | 14,500
HR(PE)=FE |[HERCAE)F| _NU071 | 28HRI | 22,000 | 63% 64% 45HFI | 21,900
NU073 | 28HET | 19,200 | 68% 69% 45H7] | 19,100
AiEHE NU078 | 28HEI | 22700 | 62% 63% 45HE] | 22,600
BR(CPE)=2% [RzCAE)HF| NUo21 | 28HFI | 18,900 | 66% 67% 45H BT | 18,800
BEOR NU022 | 28HRI | 17,100 | 69% 70% 45HFI | 17,000
K (BAFE) =FH1E | XBR(EFE) | NU0S3 | 28HBI | 17,000 | 65% 66% 45HFI | 16,500
AiEHE NUO084 | 28HEI | 17,000 | 65% 66% 45HH] | 16,500
N =94 (FRER) IS NU037 | 28HBI | 20000 [ 51% 53% 45HH] | 16,000
P# (RER) %[ NU036 | 28HET | 20,000 | 51% 53% 45HH] | 16,000
B (hED) =48 (N8 [ &&= (P %[ NU251 | 28HAEI | 19,300 | 50% 53% 45H7] | 18,800
NU253 | 28HEI | 19,300 | 50% 53% 45HH] | 18,800
NU255 | 28H I | 18,300 | 53% 55% 45H7] | 17,800 00, H:18,800
NU257 | 28HEI | 18,300 | 53% 55% 45H7] | 17,800 00, H:18,800
P#(RER) %[ _NU252 | 28HET | 15000 | 61% 63% 45HE] | 14,500
NU254 | 28E I | 17,200 | 55% 58% 45HH]_| 16,700
NU256 | 28E I | 19,200 | 50% 53% 45H7] | 18,700 7,700, H:22,300
NU258 | 28E I | 19,200 | 50% 53% 45H7] | 18,700 7,700, H:22,300
FE L =48 (AR R) [EIIES NUOT1 | 28H Al | 18400 | 46% 49% 45HFI | 17,400
P# GRER) | NUO16 | 28HET | 18,400 | 46% 49% 45HF] | 17,400
ShAB(FRER) =RiE [H@EH E[ _NUeol | 28HBT | 8,600 63% 64% 45831 | 8200
NU603 | 28HEI | 8,600 63% 64% 45H7] | 8,200
NU605 | 28EEI | 12,800 | 44% 47% 45HF] | 12,400
NU609 | 28HEI | 8,600 63% 64% 45H7] | 8,200
NU613 | 28HEI | 8,600 63% 64% 45H7] | 8,200
NU619 | 28HEI | 8,600 63% 64% 45H7] | 8,200
NU621 | 28HEI | 8,600 63% 64% 45H7] | 8,200
NU625 | 28HEI | 8,600 63% 64% 45H7] | 8,200
RIEH NU600 | 28HEI | 8,600 63% 64% 45H7] | 8,200
NU604 | 28HEI | 8,600 63% 64% 45HH] | 8,200
NU606 | 28HEI | 8,600 63% 64% 45H7] | 8,200
NU608 | 28HEI | 8,600 63% 64% 45HH] | 8,200
NU612 | 28HEI | 8,600 63% 64% 45H7] | 8,200
NU614 | 28EEI | 12,800 | 44% 47% 45HF] | 12,400
NUO84 | 28EEI | 12,800 | 44% 47% 45HF] | 12,400
NU622 | 28EEI | 12,800 | 44% 47% 45HF] | 12,400
NU624 | 28EEI | 12,800 | 44% 47% 45HF] | 12,400
NUO78 | 28EEI | 12,800 | 44% 47% 45HF] | 12,400
NU628 | 28HEI | 8,600 63% 64% 45H7] | 8,200
B GIER) ==d |8 [ NUS51 | 28HF[ | 4.200 76% 7% /21, 45HF1 | 4,100 ,25:4,100
RAC801 | 28H &I | 4,000 77% 78% /21, 45H7] | 3,900 ,25:3,900
NU557 | 28E I | 4,100 77% 78% /21, 45HF] | 4,000 ,25:4,000
NU561 | 28E &I | 4,000 77% 78% /21, 45H7] | 3,900 ,25:3,900
NU565 | 28E &I | 4,000 77% 78% /21, 45HF] | 3,900 ,25:3,900
NU569 | 28EEI | 4,000 77% 78% /21, 45H7] | 3,900 ,25:3,900
NU571 | 28E&I | 4,000 77% 78% /21, 45H7] | 3,900 ,25:3,900
NU573 | 28HEI | 4,100 77% 78% /21, 45HF] | 4,000 ,25:4,000
RS NU552 | 28H @1 | 4200 76% 7% /21, 45HF] | 4,100 ,25:4,100
NU556 | 28E &I | 4,000 77% 78% /21, 45H7] | 3,900 ,25:3,900
NU558 | 28E I | 4,100 77% 78% /21, 45H7] | 4,000 ,25:4,000
NU562 | 28H &I | 4,000 77% 78% /21, 45H7] | 3,900 ,25:3,900
NU564 | 28H &I | 4,000 7% 78% /21, 45H7] | 3,900 ,25:3,900
NU570 | 28H&I | 4,000 77% 78% /21, 45H7] | 3,900 ,25:3,900
NU572 | 28HEI | 4,000 77% 78% /21, 45H7] | 3,900 ,25:3,900
RAC804 | 28H AT | 4,000 77% 78% /21,25:4,000 45H7] | 3,900 ,25:3,900
Eh=fiE =mH | RAC831 [ 28HRFI | 8,900 25% 28% 458 A —
RAC833 | 28HEI | 5700 52% 54% 45H7] | 5300
RAC837 | 28H &I | 8,900 25% 28% 4588 | —
AIEF | RAC832 | 28HAI | 8900 25% 28% 455l
RAC834 | 28HEI | 5700 52% 54% 45571
RAC838 | 28H AT | 8,900 25% 28% 45HH]
SPAB(IRER) =AK B |48 (FRER) %[ RAC871 | 28HAT | 7.600 36% 38% —
RAC873 | 28H &I | 7,600 36% 38% — —
RAC875 | 28H &I | 7,600 36% 38% —
NU211 | 28H&I | 8400 29% 32% —
RAC877 | 28H&I | 7,600 36% 38% — —
RAC879 | 28H &I | 7,600 36% 38% —
RAC881 | 28HEI | 7,600 36% 38% —
AKEHF | RAC872 | 28HAT | 7.600 36% 38% — —
RAC874 | 28H &I | 7,600 36% 38% —
RAC876 | 28 &I | 7,600 36% 38% —
NU212 | 28H&I | 8,400 29% 32% — —
RAC878 | 28H &I | 7,600 36% 38% —
RAC870 | 28H &I | 7,600 36% 38% —
RAC882 | 28H Bl | 7,600 36% 38% — —
SPHB(INER) =55 PSR %[ RAC815 | 28E®1 | 10,800 | 24% 29% —
5% | RAC816 | 28HAT | 10,800 | 24% 29% —
SREE(RER) =E|EKES | 448 (B¥) % | RACS53 | 28HAT | 17,600 | 24% 28% — —
HTEXEH | RAC854 | 28HRT | 17,600 [ 24% 28% p— p—
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12/22 12/23 12/24 12/26 12/27 12/28
X B4 447A | 447B | 847A | 447B | 947A | 547B | 447A | 447B | 447A | 447B | 947A | 547B
EEE ERY | EAN EHY | E5% E6% | EAW 0% | E0% 6% | E5E EE58
R CRE) =548 (R5) | #$48 (FFH) F[_Nuo4 | 16,200 | 14,500 [ 16,200 | 14,500 | 16,200 | 14,500 | 23,800 | 23,000 [ 23,800 | 23,000 | 23,800 | 23,000
NUO078 | 17,300 | 16,500 | 21,300 | 20,500 | 21,300 | 20,500 | 23,800 | 23,000 | 23,800 | 23,000 | 23,800 | 23,000
ABR (FA78) =548 (&) | KMk (BH#8) %[ Nu273 | 17,000 | 14,300 [ 15,000 | 14,300 | 15,000 | 14,300 | 20,000 | 19,000 [ 20,000 | 19,000 | 20,000 [ 19,000
NU277 | 14,500 | 11,300 | 15,000 | 11,300 | 15,000 | 11,300 | 20,000 | 19,000 | 20,000 | 19,000 | 26,500 | -——
NU279 | 14,000 | 11,300 | 15,000 | 11,300 | 15,000 | 11,300 | 20,000 | 19,000 | 20,000 | 19,000 | 26,500 | -——
S8 (BRER) [ _Nu270 | 13,000 [ 11,300 | 13,000 | 11,300 [ 13,000 | 11,300 | 20,000 [ 19,000 | 20,000 | 19,000 [ 20,000 | 19,000
NU274 | 13,000 | 11,300 | 13,000 | 11,300 | 13,000 | 11,300 | 20,000 | 19,000 | 20,000 | 19,000 | 20,000 | 19,000
NU084 | 17,000 | 14,300 | 19,000 | 15300 | 19,000 | 15,300 | 20,000 | 19,000 | 20,000 | 19,000 | 20,000 | 19,000
NU280 | 17,000 | 14,300 | 18,500 | 15,300 | 18,500 | 15,300 | 20,000 | 19,000 | 20,000 | 19,000 | 20,000 | 19,000
12 =9 #& (R E) FES NUO51_| 16,000 | 15,500 | 15,000 | 14,500 | 15,000 | 14,500 | 18,000 | 17,500 | 18,000 | 17,500 | 18,000 | 17,500
NUO053 | 16,000 | 15,500 | 14,000 | 13,500 | 14,000 | 13,500 | 18,000 | 17,500 | 18,000 | 17,500 | 18,000 | 17,500
NUO57 | 13,000 | 12,500 | 12,500 | 12,000 | 12,500 | 12,000 | 18,000 | 17,500 | 18,000 | 17,500 | 18,000 | -——
NUO61_| 13,000 | 12,500 | 14,000 | 13500 | 14,000 | 13,500 | 18,000 | 17,500 | 18,000 | 17,500 | 18,000 | -——
NUO63 | 14,000 | 13,500 | 14,600 | 14,100 | 14,600 | 14,100 | 18,000 | 17,500 | 18,000 | 17,500 | 19,000 | -——
NUO65 | 14,000 | 13,500 | 14,600 | 14,100 | 14,600 | 14,100 | 18,000 | 17,500 | 18,000 | 17,500 | 19,000 | -——
S8 (FRER) [ Nuos0 | 13,600 [ 13,100 | 12,500 | 12,000 [ 12,500 | 12,000 | 18,000 | 17,500 | 18,000 | 17,500 | 18,000 | 17,500
NUO052 | 13,600 | 13,100 | 12,500 | 12,000 | 12,500 | 12,000 | 18,000 | 17,500 | 18,000 | 17,500 | 18,000 | 17,500
NUO54 | 13,000 | 12,500 | 12,500 | 12,000 | 12,500 | 12,000 | 18,000 | 17,500 | 18,000 | 17,500 | 18,000 | 17,500
NUO056 | 13,500 | 13,000 | 15,500 | 15,000 | 15,500 | 15,000 | 18,000 | 17,500 | 18,000 | 17,500 | 18,000 | 17,500
NUO60 | 14,000 | 13,500 | 16,000 | 15,500 | 16,000 | 15,500 | 18,000 | 17,500 | 18,000 | 17,500 | 18,000 | 17,500
NU062 | 15,000 | 14,500 | 17,000 | 16,500 | 17,000 | 16,500 | 18,000 | 17,500 | 18,000 | 17,500 | 18,000 | 17,500
HERCHABE)=FE |RFEGIH)HFE| NU071 — -—— [ 23,500 | 23,400 [ 23500 | 23,400 | 30,400 | 30,300 | 30,400 | 30,300 [ 42,900 | 42,800
NU073 — ——— 721,000 | 20,900 | 21,000 | 20,900 | 28,600 | 28,500 | 28,600 | 28,500 | 35,700 | 35,600
AiER NUO78 | 22,700 | 22,600 | 24,600 | 24,500 | 24,600 | 24,500 | 29,000 | 28,900 | 29,000 | 28,900 | 29,800 | 29,700
RRCHB) =2d |RECHH)F| NU021 — — | 18,900 | 18,800 [ 18,900 | 18,800 | 25,500 | 25,400 | 25,500 | 25400 | 40,900 | 40,800
Eh% NU022 | 17,100 | 17,000 | 19,300 | 19,200 | 19,300 | 19,200 | 24,700 | 24,600 | 24,700 | 24,600 | 26,500 | 26,400
Kk (B8f8) =F1E [XREHFH F|[ Nuog3 | 22,500 | 22,000 | 17,000 | 16,500 | 17,000 | 16,500 | 25,200 | 24,700 | 25,200 | 24,700 | 29,100 | 28,600
RiER NU084 | 17,000 | 16,500 | 20,000 | 19,500 | 21,400 | 21,300 | 24,000 | 23,500 | 24,000 | 23,500 | 25200 | 24,700
TN = ;P48 (BB ER) N EE NUO037 | 23,000 | 19,000 | 23,000 | 19,000 | 20,000 | 16,000 | 23,000 | 19,000 | 23,000 | 19,000 | 25500 | 21,500
S8 (FRE) [ NU036 | 23,000 [ 19,000 | 23,000 | 19,000 [ -— ——— 123,000 | 19,000 | 23,000 | 19,000 | 23,500 | 19,500
£ &2 (Eh %] NU251 | 23,800 | 23,300 | 19,300 | 18,800 | 19,300 | 18,800 | 25,300 | 24,800 | 25300 | 24,800 | 25,300 | 24,800
NU253 | 23,800 | 23,300 | 19,300 | 18,800 | 19,300 | 18,800 | 25,300 | 24,800 | 25,300 | 24,800 | 25,300 | 24,800
NU255 | 20,600 | 20,100 | 19,300 | 18,800 | 19,300 | 18,800 | 25,300 | 24,800 | 25,300 | 24,800 | 26,900 | -———
NU257 | 20,600 | 20,100 | 19,300 | 18,800 | 19,300 | 18,800 | 25,300 | 24,800 | 25,300 | 24,800 | 26,900 | -———
S8 (FRER) [ _Nu252 | 15,000 [ 14,500 | 16,700 | 16,200 | 16,700 | 16,200 | 25,300 | 24,800 | 25,300 | 24,800 | 25,300 | 24,800
NU254 | 17,200 | 16,700 | 22,200 | 21,700 | 22,200 | 21,700 | 25,300 | 24,800 | 25300 | 24,800 | 25300 | 24,800
NU256 | 18,200 | 17,700 | 22,800 | 22,300 | 22,800 | 22,300 | 25,300 | 24,800 | 25300 | 24,800 | 25300 | 24,800
NU258 | 18,200 | 17,700 | 22,800 | 22,300 | 22,800 | 22,300 | 25,300 | 24,800 | 25300 | 24,800 | 25300 | 24,800
FE Ll = 8 (R &) i LLI & NUO11 — —— | 26,000 | 25,000 | 18,400 | 17,400 | 26,000 [ 25,000 | 26,000 | 25,000 [ 29,000 | 28,000
S8 (FREE) [ NUo16 | 18,400 [ 17,400 | 26,000 | 25000 [ -— ——— 126,000 | 25,000 | 26,000 | 25,000 | 26,000 | 25,000
(B =F1E AR GRE;) F|__NU601 8,600 | 8200 | 8600 | 8200 | 8600 | 8200 [ 12,100 | 11,700 | 12,100 | 11,700 | 12,100 | 11,700
NU603 | 8,600 | 8200 | 8600 | 8200 | 8600 | 8200 | 12,100 | 11,700 | 12,100 | 11,700 | 12,100 | 11,700
NU605 | 12,800 | 12,400 | 12,800 | 12,400 | 12,800 | 12,400 | 13,300 | 12,900 | 13,300 | 12,900 | 13,300 | 12,900
NU609 | 8,600 | 8200 | 8600 | 8200 | 8600 | 8200 | 12,100 | 11,700 | 12,100 | 11,700 | 12,100 | -———
NU613 | 8,600 | 8200 | 8600 | 8200 | 8600 | 8200 | 12,100 | 11,700 | 12,100 | 11,700 | 12,100 | -——
NU619 | 8,600 | 8200 | 8600 | 8200 | 8600 | 8200 | 12,100 | 11,700 | 12,100 | 11,700 | 12,100 | -——
NU621 8,600 | 8200 | 8600 | 8200 | 8600 | 8200 | 12,100 | 11,700 | 12,100 | 11,700 | 12,100 | -—
NU625 | 8,600 | 8200 | 8600 | 8200 | 8600 | 8200 | 12,100 | 11,700 | 12,100 | 11,700 | 12,100 | -———
RIER NU600 | 8,600 | 8200 | 8600 | 8200 | 8600 | 8200 | 12,100 | 11,700 | 12,100 | 11,700 | 12,100 | 11,700
NU604 | 8,600 | 8200 | 8600 | 8200 | 8600 | 8200 | 12,100 | 11,700 | 12,100 | 11,700 | 12,100 | 11,700
NU606 | 8,600 | 8,200 | 8600 | 8200 | 8,600 | 8200 | 12,100 | 11,700 | 12,100 | 11,700 | 12,100 | 11,700
NU608 | 8,600 | 8200 | 8600 | 8200 | 8600 | 8200 | 12,100 | 11,700 | 12,100 | 11,700 | 12,100 | 11,700
NU612 | 8,600 | 8200 | 8600 | 8200 | 8600 | 8200 | 12,100 | 11,700 | 12,100 | 11,700 | 13,300 | 12,900
NU614 | 12,800 | 12,400 | 12,800 | 12,400 | 12,800 | 12,400 | 13,300 | 12,900 | 13,300 | 12,900 | 13,300 | 12,900
NU084 | 12,800 | 12,400 | 12,800 | 12,400 | 12,800 | 12,400 | 13,300 | 12,900 | 13,300 | 12,900 | 13,300 | 12,900
NU622 | 12,800 | 12,400 | 12,800 | 12,400 | 12,800 | 12,400 | 12,800 | 12,400 | 12,800 | 12,400 | 12,800 | 12,400
NU624 | 12,800 | 12,400 | 12,800 | 12,400 | 12,800 | 12,400 | 12,800 | 12,400 | 12,800 | 12,400 | 12,800 | 12,400
NUO78 | 12,800 | 12,400 | 12,800 | 12,400 | 12,800 | 12,400 | 12,800 | 12,400 | 12,800 | 12,400 | 12,800 | 12,400
NU628 | 8,600 | 8200 | 8600 | 8200 | 8600 | 8200 | 12,100 | 11,700 | 12,100 | 11,700 | 12,100 | 11,700
R (RE) ==h AR GRE;) F|__NUS51 4200 | 4,100 | 4200 | 4,100 | 4,200 | 4,100 [ 4200 | 4,100 | 4200 | 4,100 | 4,200 | 4,100
RAC801 | 4000 | 3,900 | 4000 3900 | 4000 | 3,900 | 4000 3900 | 4000 | 3,900 | 4,000 | 3900
NU557 | 4,100 4000 | 4,100 | 4000 | 4100 | 4000 | 4100 _ 4000 | 4100 | 4000 | 4100 | 4,000
NU561 4000 | 3,900 | 4000 | 3900 | 4000 3900 | 4000 3900 | 4000 | 3900 | 4000 | 3,900
NU565 | 4,000 3,900 | 4000 | 3900 | 4000 | 3900 | 4000 3900 | 4000 | 3900 | 4000 | 3,900
NU569 | 4,000 3,900 | 4000 | 3900 | 4000 | 3900 | 4000 3900 | 4000 | 3900 | 4000 | 3,900
NU571 4000 | 3,900 | 4000 | 3900 | 4000 @ 3900 | 4000 3900 | 4000 | 3900 | 4000 | 3,900
NU573 | 4,100 4000 | 4100 | 4000 | 4100 | 4000 | 4100 _ 4000 | 4100 | 4000 | 4100 | 4,000
EHR NU552 | 4,200 4,100 | 4200 | 4,100 | 4200 | 4,100 | 4200 _ 4100 | 4200 | 4,100 | 4200 | 4,100
NU556 | 4,000 3,900 | 4000 | 3900 | 4000 | 3900 | 4000 3900 | 4000 | 3900 | 4000 | 3,900
NU558 | 4,00 4,000 | 4,100 | 4000 | 4100 | 4000 | 4100 _ 4000 | 4100 | 4000 | 4100 | 4,000
NU562 | 4,000 3,900 | 4000 | 3900 | 4000 | 3900 | 4000 3900 | 4000 | 3900 | 4000 | 3,900
NU564 | 4,000 3,900 | 4000 | 3900 | 4000 | 3900 | 4000 3900 | 4000 | 3900 | 4000 | 3,900
NU570 | 4,000 3,900 | 4000 | 3900 | 4000 | 3900 | 4000 3900 | 4000 | 3900 | 4000 | 3,900
NU572 | 4,000 3,900 | 4000 | 3900 | 4000 | 3900 | 4000 3900 | 4000 | 3900 | 4000 | 3,900
RAC804 | 4000 | 3,900 | 4000 @ 3900 | 4000 | 3,900 | 4000 3900 | 4000 | 3,900 | 4,000 | 3900
BEH =R EHR RAC831 — — — — — — — — — — — —
RAC833 | 5700 | 5300 | 5700 | 5300 | 5700 | 5300 | 5700 | 5300 | 5700 | 5300 | 5700 | 5300
RAC837 | —— — — — — — — — — — — —
RIER RAC832 | —— — — — — — — — — — — —
RAC834 | 5700 | 5300 | 5700 | 5300 | 5700 | 5300 | 5700 | 5300 | 5700 | 5300 | 5700 | 5300
RAC838 | -—— — — — — — — — — — — —
B (FRER) =AKE |h#8(IBF) F|_RAC871 — — — — — — — — — — — —
RAC873 | —— — — — — — — — — — — —
RAC875 | -—— — — — — — — — — — — —
NU211 9,100 — 9,100 — 9,100 — 9,100 — 9,100 — 9,100 —
RAC877 | -—— — — — — — — — — — — —
RAC879 | —— — — — — — — — — — — —
RAC881 — — — — — — — — — — — —
AkBEF | RAC872 | -—— — — — — — — — — — — —
RAC874 | —— — — — — — — — — — — —
RAC876 | -—— — — — — — — — — — — —
NU212_| 9,100 — 9,100 — 9,100 — 9,100 — 9,100 — 9,100 —
RAC878 | -—— — — — — — — — — — — —
RAC870 | —— — — — — — — — — — — —
RAC882 | —— — — — — — — — — — — —
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hEEGRE) ==% | PEGREH) FE |__NU551 AIH 8,400 55% AIH 7,000 62% [Ei1E] 6,100 67% 3HHT 5,000 73%
RAC801 | BiIH 8,200 56% BIH 6,800 63% BIE 5,900 68% 3HHI 4,800 74%
NU557 B E 8,300 55% Eii=] 6,900 63% Eii=] 6,000 68% 3EAT 4,900 74%
NU561 BIH 8,200 56% BIH 6,800 63% BiIE 5,900 68% 3HHI 4,800 74%
NU565 B E 8,200 56% Eii=] 6,800 63% Eii=] 5,900 68% 3EAT 4,800 74%
NU569 BIH 8,200 56% BIH 6,800 63% BIE 5,900 68% 3HHI 4,800 74%
NU571 B E 8,200 56% Eii=] 6,800 63% Eii=] 5,900 68% 3EAI 4,800 74%
NU573 BIH 8,300 55% BIH 6,900 63% BIE 6,000 68% 3HHI 4,900 74%
EEES NU552 B E 8,400 55% Eii=] 7,000 62% Eii=] 6,100 67% 3EAT 5,000 73%
NU556 BIH 8,200 56% BIH 6,800 63% BIE 5,900 68% 3HHI 4,800 74%
NU558 B E 8,300 55% Eii=] 6,900 63% Eii=] 6,000 68% 3E AT 4,900 74%
NU562 BIH 8,200 56% BIH 6,800 63% BIE 5,900 68% 3HHI 4,800 74%
NU564 B E 8,200 56% Eii=] 6,800 63% Eii=] 5,900 68% 3E AT 4,800 74%
NU570 BIH 8,200 56% BIH 6,800 63% BiIE 5,900 68% 3HHI 4,800 74%
NU572 B E 8,200 56% Eii=] 6,800 63% Eii=] 5,900 68% 3EAT 4,800 74%
RAC804 | BiIH 8,200 56% BIH 6,800 63% BIE 5,900 68% 3HHI 4,800 74%
EH=fA1E =S RAC831 [Ei1E] 9,800 21% [Ei1E] 9,700 22% [Ei1E] 9,600 23% — — —
RAC833 | BiIH 9,800 21% BiIE 8,800 20% BiIE 8,300 33% — — —
RAC837 | iH 9,800 21% Eii=] 9,700 22% Eii=] 9,600 23% — — —
RIER RAC832 | BiIH 9,800 21% BiIE 9,700 22% BiIE 9,600 23% — — —
RAC834 | &iIH 9,800 21% Eii=] 8,800 20% BIH 8,300 33% — p— —
RAC838 | BiIH 9,800 21% BiIE 9,700 22% BiIE 9,600 23% — — —
R (BB =AXKEB| #E(FRE) F |_RACSTI Ei1E] 9,600 22% 1=l 9,300 24% 1=l 9,000 27% — — —
RAC873 | BiIH 9,600 22% BiIE 9,300 24% BiIE 9,000 27% — — —
RAC875 | &iH 9,600 22% Eii=] 9,300 24% BIH 9,000 27% — p— —
RAC877 | BiIH 9,600 22% BiIE 9,300 24% BiIE 9,000 27% — — —
RAC879 | iIH 9,600 22% Eii=] 9,300 24% Eii=] 9,000 27% — — —
RAC881 | BiIH 9,600 22% BiIE 9,300 24% BiIE 9,000 27% — — —
AREFR RAC872 | #iH 9,600 22% [Ei1E] 9,300 24% BIA 9,000 27% — p— p—
RAC874 | BiIH 9,600 22% BiIE 9,300 24% BiIE 9,000 27% — — —
RAC876 | &iH 9,600 22% Eii=] 9,300 24% Eii=] 9,000 27% — — —
RAC878 | BiIH 9,600 22% BiIE 9,300 24% BiIE 9,000 27% — — —
RAC870 | &iH 9,600 22% Eii=] 9,300 24% Eii=] 9,000 27% — — —
RAC882 | BiIH 9,600 22% BiIE 9,300 24% BiIE 9,000 27% — — —
RiE=5E Ria% RAC807 | iH 9,600 22% Eii=] 9,300 24% Eii=] 9,000 27% — — —
EREH RAC806 | BiIH 9,600 22% BiIE 9,300 24% BiIE 9,000 27% — — —
iR (RE) =53 E | P4 (FRER) F | RAC889 | HIH 26,500 21% [Ei1E] 26,300 21% 1=l 26,100 22% — — —
SREH RAC880 | ®IH | 26,500 | 21% BIH | 26300 | 21% BIH | 26,100 | 22% —— p— —




r EI 1 e 1 1 ~ 6 JTARAC 2012/10/30
_ EEEAR 2012/10/31 ~
1/1 1/2.3 1/4 1/5,6
R B 947°A | 447B | 447°C | 447D | 447A | 549B | 447C | 447D | 847°A | 447B | 8447°C | 449D | 447°A | 447B | 447C | 447D
EE EE EEE EE | 54 B EE% 254 |5 | EEE | E54 EG | EE% 254 EEE | E5H
PR (BRER) == | F#B(BRE) F | NUS51 | 8400 | 7,000 | 6,100 & 5000 | 8400 | 7,000 & 6,100 | 5000 [ 8400 | 7,000 | 6,100 | 5000 | 8400 | 7,000 | 6,100 & 5000
RAC801 | 8,200 | 6,800 | 5900 | 4,800 | 8200 | 6,800 | 5900 | 4800 | 8200 | 6,800 | 5900 | 4800 | 8200 | 6,800 | 5900 | 4,800
NU557 | 8300 | 6,900 | 6,000 | 4900 | 8300 | 6,900 | 6000 | 4900 | 8300 | 6,900 | 6,000 | 4900 [ 8300 | 6900 | 6000 | 4,900
NU561 | 8200 | 6,800 | 5900 | 4,800 | 8200 | 6,800 | 5900 | 4.800 | 8200 | 6,800 | 5900 | 4800 | 8200 | 6,800 | 5900 | 4,800
NU565 | 8200 | 6,800 | 5900 | 4,800 | 8200 | 6,800 | 5900 | 4.800 | 8200 | 6,800 | 5900 | 4.800 | 8200 | 6,800 | 5900 | 4,800
NU569 | 8200 | 6,800 | 5900 | 4,800 | 8200 | 6,800 | 5900 | 4.800 | 8200 | 6,800 | 5900 | 4800 | 8200 | 6,800 | 5900 | 4,800
NU571 | 8200 | 6,800 | 5900 | 4,800 | 8200 | 6,800 | 5900 | 4.800 | 8200 | 6,800 | 5900 | 4.800 | 8200 | 6,800 | 5900 | 4,800
NU573 | 8300 | 6,900 | 6,000 | 4900 | 8300 | 6,900 | 6,000 | 4900 | 8300 | 6,900 | 6,000 | 4900 | 8300 | 6900 | 6,000 | 4,900
BhR NU552 | 8400 [ 7,000 | 6,100 | 5000 | 8400 | 7,000 | 6,100 | 5000 | 8400 | 7,000 | 6,100 | 5000 | 8400 | 7,000 | 6,100 | 5,000
NU556 | 8200 | 6,800 | 5900 | 4,800 | 8200 | 6,800 | 5900 | 4.800 | 8200 | 6,800 | 5900 | 4.800 | 8200 | 6,800 | 5900 | 4,800
NU558 | 8300 | 6,900 | 6,000 | 4900 | 8300 | 6,900 | 6000 | 4900 | 8300 | 6,900 | 6,000 | 4900 [ 8300 | 6900 | 6000 | 4,900
NU562 | 8200 | 6,800 | 5900 | 4,800 | 8200 | 6,800 | 5900 | 4.800 | 8200 | 6,800 | 5900 | 4.800 | 8200 | 6,800 | 5900 | 4,800
NU564 | 8200 | 6,800 | 5900 | 4,800 | 8200 | 6,800 | 5900 | 4.800 | 8200 | 6,800 | 5900 | 4.800 | 8200 | 6,800 | 5900 | 4,800
NU570 | 8200 | 6,800 | 5900 | 4,800 | 8200 | 6,800 | 5900 | 4.800 | 8200 | 6,800 | 5900 | 4.800 | 8200 | 6,800 | 5900 | 4,800
NU572 | 8200 | 6,800 | 5900 | 4,800 | 8200 | 6,800 | 5900 | 4.800 | 8200 | 6,800 | 5900 | 4.800 | 8200 | 6,800 | 5900 | 4,800
RACB804 | 8,200 | 6,800 | 5900 | 4,800 | 8200 | 6,800 | 5900 | 4800 | 8200 | 6,800 | 5900 | 4800 | 8200 | 6.800 | 5900 | 4,800
Eh=H1 EEES RAC831 [ 9,800 | 9,700 | 95600 [ -— [ 9,800 | 9,700 | 9,600 | -— | 9,800 | 9,700 | 9,600 | -— | 9,800 | 9,700 [ 9,600 | -——
RAC833 | 9,800 | 8800 | 8300 | -— | 9,800 | 8800 | 8300 | -— | 9800 | 8800 | 8300 | -— | 9,800 | 8800 | 8300 | -———
RAC837 | 9,800 | 9,700 | 95600 [ -— [ 9,800 | 9,700 | 9,600 | -— | 9,800 | 9,700 | 9,600 | -— | 9,800 | 9700 [ 9,600 | -——
RIER RAC832 | 9,800 | 9,700 | 9,600 | -—— | 9,800 | 9,700 | 9,600 | -—— | 9,800 | 9,700 | 9,600 | -—— | 9,800 | 9,700 | 9,600 | -———
RAC834 | 9,800 | 8800 | 8300 [ -— | 9800 | 8800 | 8300 | -— | 9,800 | 8800 | 8300 | -— | 9,800 | 8800 | 8300 | -——
RAC838 | 9,800 | 9,700 | 9,600 | -— | 9,800 | 9,700 | 9,600 | -—— | 9,800 | 9,700 | 9,600 | -—— | 9,800 | 9,700 | 9,600 | -———
SR8 (IRER) = Ak B | 48 (%) [ RAC871 | 9,600 | 9,300 | 9000 | -— [ 9,600 | 9,300 | 9000 | -— [ 9,600 | 9,300 | 9000 | -— [ 9,600 | 9,300 | 9000 [ -——
RAC873 | 9,600 | 9,300 | 9,000 | -—— | 9,600 | 9,300 | 9,000 | -—— | 9600 | 9,300 | 9,000  -— | 9600 | 9300 | 9,000 | -———
RAC875 | 9,600 | 9,300 | 9000 [ -— [ 9,600 | 9,300 | 9,000 | -— | 9,600 | 9300 [ 9,000 | -— | 9600 | 9300 [ 9,000 | ——
RAC877 | 9,600 | 9,300 | 9,000 | -—— | 9,600 | 9,300 | 9,000 | -— | 9600 | 9,300 | 9,000  -— | 9600 | 9300 | 9,000 | --—
RAC879 | 9,600 | 9,300 | 9000 [ -— [ 9,600 | 9,300 | 9,000 | -— | 9,600 | 9300 [ 9,000 | -— | 9600 | 9300 [ 9,000 | -——
RAC881 | 9,600 | 9,300 | 9,000 | -— | 9,600 | 9,300 | 9,000 | -—— | 9,600 | 9,300 | 9,000  -— | 9600 | 9300 | 9,000 | -——
AKEH [ RAC872[ 9,600 | 9,300 | 9000 | -— [ 9,600 | 9,300 | 9000 | -— | 9,600 | 9,300 | 9000 | -— [ 9,600 | 9300 | 9000 | -——
RAC874 | 9,600 | 9,300 | 9000 | -— | 9,600 | 9,300 | 9,000 | -—— | 9600 | 9,300 | 9,000  -— | 9600 | 9300 | 9,000 | --——
RAC876 | 9,600 | 9300 | 9000 [ -— [ 9,600 | 9,300 | 9,000 | -— | 9,600 | 9300 [ 9,000 | -— | 9600 | 9300 [ 9,000 | ——
RAC878 | 9,600 | 9,300 | 9,000 | -— | 9,600 | 9,300 | 9,000 | -—— | 9600 | 9,300 | 9,000  -— | 9600 | 9300 | 9,000 | -—
RAC870 [ 9,600 | 9300 | 9000 [ -— [ 9,600 | 9,300 | 9,000 | -— | 9,600 | 9300 [ 9,000 | -— | 9600 | 9300 [ 9,000 | ——
RAC882 | 9,600 | 9,300 | 9000 | -— | 9,600 | 9,300 | 9,000 | -—— | 9600 | 9,300 | 9,000  -— | 9600 | 9300 | 9,000 | --——
RE=5E A% RAC807 | 9,600 | 9,300 | 9000 [ -— | 9,600 | 9,300 | 9,000 | -— | 9,600 | 9300 [ 9,000 | -— | 9600 | 9300 [ 9,000 | -——
E7REH | RAC806 | 9,600 | 9,300 | 9000 | -— | 9,600 | 9,300 | 9,000 | -— | 9,600 | 9,300 | 9000 | -— | 9,600 | 9300 | 9,000 | -——
S8 (IRER) =5 ME [ 948 (FBF) F | RAC889 | 26,500 | 26,300 | 26,100 | -— | 26,500 | 26,300 | 26,100 | -— | 26,500 | 26,300 | 26,100 | -—— [ 26,500 | 26,300 | 26,100 | ——
S3ES | RAC880 | 26,500 | 26,300 | 26,100 | —— [ 26,500 | 26,300 | 26,100 | —— [ 26,500 | 26,300 | 26,100 | ——— [ 26,500 | 26,300 | 26,100 | ———
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[R—/\—5%18 18 12H29H~186 JTARAC 2012/10/30

EEEAE 2012/10/31
N 12/29 | 12/30 | 12/31 | 1/1 1/2 1/3 1/4 1/5 1/6
F 5
B B2 \masm| mam | ene | e | ene | wnE | e | Bne | anE | s
RRCAR) =0 FH) | HEEBFFE |_Nuo4 [ 5587 | — — [ 9800 [ 9800 [ -——- — — — —
NU078 | 558 @I | —— — [ 9800 [ — — — — — —
AR (B#) =@ (BFH) | KBr(BEIFE)F | NU273 | 55HHT | — — — [ 9800 | —— — [ 12,800 | 12,800 | 12,800
NU277 | 55H81 | —— — [ 9800 | 9800 [ —- — | 12,800 | 12,800 | 12,800
NU279 | 5581 @1 | —— — | 9800 | 9800 [ — —— | 12,800 | 12,800 | 12,800
HRB(AF FE | _NU270 | 55HAET | — — [ 9800 | 9800 [ —- — — — —
NU274 | 5580@1 | — — | 9800 | 9800 [ — — — — —
NU0s4 | 558 @I | — — [ 9800 [ — — — — — —
NU280 | 55H@1 | —— — | 9800 [ — — — — — —
ekt = 48 (BH) L RS NUO51 [ 55H@T | —— — — | 9800 [ — — | 13,700 | 13,700 | 13,700
NU053 | 55EFi1 | —— — — | 9800 [ — — | 13,700 | 13,700 | 13,700
NU057 | 55H@T | —— — [ 9800 | 9800 [ —- — | 11,300 | 11,300 | 11,300
NUO61 | 5581 H1 | —— — | 9800 | 9800 [ — —— | 13,400 | 13,400 | 13,400
NU063 | 55H@T | —— — [ 9800 | 9800 [ —- — | 13,400 | 13.400 | 13.400
NU065 | 55B @I | —— — | 9800 | 9800 [ — —— | 13,400 | 13,400 | 13,400
48 (FRE) F |_NU050 | 55HRI | — ——— | 9.800 | 9.800 | — p— p— p— —
NU052 | 55H @1 | —— — | 9800 | 9800 [ — — — — —
NU054 | 558 @1 | — — [ 9800 [ — — — — — —
NU056 | 55 @1 | —— — | 9800 [ — — — — — —
NU060 | 558 @I | —— — [ 9800 [ — — — — — —
NU062 | 55 @1 | —— — | 9800 [ — — — — — —
BR(HHE) =% RERCHAEF | _NUo71 [ 55887 | — — — | 17600 — — | 23500 | 23500 | 23,500
NU073 | 558 Hi1 | —— — [ 17600 [ 17.100 [ — —— | 23,000 | 23,000 | 23,000
BiE%E NU078 | 558 @I | —— — [ 17600 — — — — — —
RR(HE) =Eh FHRCHE)F [ NUo21 [ 558781 | —— — — [ 16600 -—— — [ 22500 | 22,500 | 22500
e NU022 | 55H@I1 | —— — [ 16600 — — — — — —
K (BF8) =/1E KR (BF)% | NU0s3 | 55HAm | — — | 9800 | 9800 [ — —— | 18.200 | 18,200 | 18,200
BiE%E NU0s4 | 55H@I | — — [ 9800 | 9800 [ —- — — — —
AEE R =R H) | fEE (PR [ NU251 [ 55HF] | — — — [ 9800 | —— — [ 15500 | 15,500 | 15,500
NU253 | 55H@T | —— — — | 9800 [ — — | 15,500 | 15,500 | 15,500
NU255 | 55E @1 | —— — | 9800 | 9800 [ — —— | 15,000 | 15,000 | 15,000
NU257 | 55187 | —— — [ 9800 | 9800 [ —- —— | 15,000 | 15,000 | 15,000
HEB(MB; X | _Nu2s2 | 55HAET | — — | 9800 | 9800 [ — — — — —
NU254 | 5568@1 | —— — [ 9800 [ 11800 [ —- — — — —
NU256 | 55E0 @1 | -—— — | 9800 [ — — — — — —
NU258 | 55H@1 | —— — [ 9800 [ — — — — — —
B (B =AiE HEB(MB; X |_Nueot | 55HAET | — — — | 7800 [ — — | 7.800 | 7.800 | 7.800
NU603 | 55H@T | —— — — | 7800 [ — — | 7.800 | 7.800 | 7.800
NU605 | 55E @1 | —— — — | 7800 | — — | 7.800 | 7.800 | 7.800
NU609 | 55H@T | —— — [ 7800 | 7800 [ —- — | 7.800 | 7.800 | 7.800
NU613 | 55E @1 | —— — | 7800 | 7800 | — — | 7.800 | 7.800 | 7.800
NU619 | 55H@T | —— — [ 7800 | 7800 [ —- — | 7.800 | 7.800 | 7.800
NU621 | 558 @1 | —— — | 7800 | 7800 | — — | 7.800 | 7.800 | 7.800
NU625 | 55H@T | —— — [ 7800 | 7800 [ —- — | 7.800 | 7.800 | 7.800
BEX NU600 | 558 @1 | —— — | 7800 | 7800 | — — — — —
NU604 | 55H@1 | —— — [ 7800 | 7800 [ —- — — — —
NU606 | 55 @1 | —— — | 7800 | 7800 | — — — — —
NU608 | 55H @I | —— — [ 7800 | 7800 [ —- — — — —
NU612 | 55H80@1 | —— — | 7800 | 7800 | — — — — —
NU614 | 558@1 | — — [ 7800 [ — — — — — —
NU084 | 55 @1 | —— — | 7800 [ — — — — — —
NU622 | 55H@I1 | — — [ 7800 [ — — — — — —
NU624 | 550 @1 | —— — | 7800 [ — — — — — —
NU078 | 558 @I | —— — [ 7800 [ — — — — — —
NU628 | 55H0@1 | —— — | 7800 [ — — — — — —
HROB) =55 M8 (ARE FE | _NU5S51 [ 55HET | —— — — | 4000 [ — — | 4000 | 4000 | 4000
RAC801 | 55EA1 | — o — [ 3800 [ — — | 3800 [ 3800 | 3800
NU557 | 55H@T | —— — — | 3900 [ — — | 3900 | 3900 [ 3900
NU561 | 5581 @1 | —— — | 3800 | 3800 | — — | 3800 [ 3800 | 3800
NU565 | 55H@T | —— — [ 3800 | 38800 [ — — | 3800 | 3800 | 3.800
NU569 | 55E @1 | —— — | 3800 | 3800 | — — | 3800 [ 3800 | 3800
NU571 [ 55H@7 | —— — [ 3800 | 8800 [ — — | 3800 | 3800 | 3.800
NU573 | 55EH1 | —— — | 3900 | 3900 | — — | 3900 | 3900 | 3900
RS NU552 | 55H@1 | —— — | 4000 | 4000 [ — — — — —
NU556 | 550 @1 | —— — | 3800 | 3800 [ — — — — —
NU558 | 55E@1 | —— — [ 38900 [ — — — — — —
NU562 | 55E0 @1 | -—— — | 3800 [ — — — — — —
NU564 | 55 @1 | —— — [ 3800 [ — — — — — —
NU570 | 5580@1 | —— — | 3800 [ — — — — — —
NU572 | 55H@1 | —— — [ 3800 [ — — — — — —
RAC804 | 55HAm | — — | 3800 | — — — — — —
Ba=Hhi8 BO% RAC833 | 55H®FT | —— — [ 4900 | 4900 [ — — | 4900 | 4900 | 4900
EiEZE RAC834 | 55HAT | — — | 4900 | 4900 | — o — — —




[8%3 @8R (1 H70 ~31AHRD)

EEEAA ;. 2012/10/30

T/7-11. 1/15-31
547A 5478
=) g = <
FH BB FH P BB
2 BAE | wix i BAME A g i
BR(PE) =KKR(FH) | RREEB)E |_JLi01 Bl 9,000 60% 45881 8,800 61% 00
JL103 000 458 500 53% 00, H:9.700
JL 000 458 500 49% 00
JL 000 458 500 49% 00
JL 000 £ 458 500 53% 00, H:9.700
JL 000 +H:9.800 458 500 53% 9,700
JL 000 £ H:9.800 458 500 53% 9,700
JL 000 56%  A2:10,500, £ H:9,800 458 9,500 58%  A2:10,000
JL 000 7% £ H:9.800 458 500 49% 0. £:9.700
JL 000 A%:12,500. £ B9800 458 500 49%  A%:12,000, +:9,500, H:9.700
JL 000 A% B:13.000, £:9.800 458 500 49%  A®H:12500, £9500
JL 000 A% 0:13.000, £:9.800 458 500 49% _ A®A:12500, £9500
JL133 000 A%:13.500, +:9.800, B:13,000 458 500 49%  A#:13,000, :9,500, H:12.500
JL 000 A%:13,500, £:9.800, B:13,000 458 500 49%  A#:13,000, :9,500, H:12.500
JL 000 A%:13,500, £:9.800, B:13,000 458 500 49%  A%:13,000, +:9,500, H:12.500
ARFM T L 500 49% :13,000. £ H:9,800 458 000 51% 112,500, + H:9,500
JL 000 47% 000, 1 F:9,800 458 500 49% 25500, £ H:9,500
JL106 000 42% 000, B1:9.800 458 500 424 A
JL 000 42% 000, H:9.800 458 500 % f
JL 000 51% 458 500 53%
JL 000 51% 458 500 53%
JL 000 56% 458 500 58%
JL 000 56% 458 500 58%
JL 000 56% 458 500 58%
JL 000 56% 458 500 58%
JL 000 56% 458 500 58%
JL 000 56% 458 500 58% X
JL130 000 7 458 11,500 49% 00, H:12,500
JL134 000 %13, 458 11,500 49% 000, :9.700. B:12.500
JL138 000 £:13500, T 458 11,500 49% _ £:13,000, £:9.700, B:12.500
RR(PE) =XKR (BEE) | KRG | JLi77 9,600 £ 1:9,800, B: — — —
JL189 000 A£:13500, B:13,000 4588 11500 49%  A%:13,000, H:12.500
KR (B 5% | JLi72 000 :13,000. £ H:11,000 45881 11,500 49%  H:12.500, +H:10500
JL186 600 48% _ %:11.800, £:9.400 — — —

RRERCHE) =HREFHTR) | RRE)E |_JLso1 300 63% & 3,000 458 000 64%  £1:12,300 [ 1
JL503 000 61% %1 458 300 63% % [
JL505 300 60% 4 300 458 600 62% 4 600 [
JL507 300 51% % 3,500 458 600 53% % 2,800
JL509 300 51% % 3,500 458 600 53% % 2,800
JL 300 60% 4 300 H:13500 458 600 62% 4 600, F:12.800 1 1
JL 300 60% 300, H:12,800 458 300 63% 600, H:12,100 1 1
JL 000 : 3,300 458 300 63% [ [
L 000 00, A:13,300 458 300 63% 1 [ 1
L 000 00, A 458 300 63% 1 [ 1
JL3933 000 00, B 458 300 63% 1 [ 1
JL521 000 00, A 458 300 63% 1 1
JL523 300 60% 16 458 300 63% [ [
JL525 300 60% 118,000, :12,800 458 300 63% 1
JL527 400 57% 400, %:18,000, E:12,800, H:13,300 | 458 700 59%

JL529 400 57% ,000, 1:12,800. A:14,300 458 700 59%
JL531 800 59% 458 100 61%
ARG T ) % |__JL500 300 51% 458 600 53%
JL502 300 51% :13.300 458 600 53%
JL504 300 54% :13.300 458 600 56%
JL506 300 60% 458 600 62%
300 60% — 458 600 62%
JL3934 300 60% 600, H:13,80 458 600 62%
JL 300 60% 800, £ 14, 458 600 62% 100, B:14,100
JL 800 56% 116,300, B:19.300 458 600 59% 115,600, H:18,600
JL 300 57" 116,300, B 458 600 59% 115,600, H:18,600
L 300 300, B 458 600 59% 115,600, H:18,600
L 300 300, B 458 600 59% 600. H:18,600
JL520 300 116,300, A 458 600 59% 115,600, H:18,600
JL522 300 116,300, A 458 600 59% 115,600, H:18,600
JL524 300 300, H:19,300 458 600 59% 114,600, H:18,600
JL526 500 60% 300, £ 18, 458 800 62% 600, +:13,100, H:17.600
JL528 500 60% 300, B:17.300 458 300 63% 113,600, B:16,600
JL530 500 60% 114,300, A 458 300 63% 113,600, B:15,100
RR(CPE) =18 R (HE) % |_JLs01 000 62% 1 00 458 500 63% 4 00
JL303 000 62% Azt: 458 500 63% A@t:
JL305 000 4% A%:17,500, £:16,000, B:14000 458 000 56% _ A%:16,500, £:15,000. B:13,500
JL307 000 1% A%:18,500. £:17.000, H:14,000 458 000 50% _ A%:17,500, £:16,000, B:13,500
JL309 000 1% A%:18,500, £:17.000, H:14,000 458 000 50% _ A%:17,500, £:16,000, B:13,500
JL 000 4 :14.300 458 000 56% 00
JL 000 59% % +:16,000, H:14,300 458 000 62% £:15,000. A:13,500
JL 000 59% +:16.000, H:14,800 458 000 62% +:15,000, H:13,800
JL 000 5% +16,000 458 000 62%
JL 000 59% 000 458 000 62%
JL 000 62% 15,500, B:15,000 458 500 63%
JL323 000 62% 15,500, B:16.000 458 500 63%
JL325 000 62% 15,500, B:16.000 458 500 63%
JL329 000 59%  A:16,000. £:19,500, £:14,000, B 458 000 62% A
JL331 000 50%  A:16, 458 000 62% A
JL333 000 59%  A:16,000. £:20,000, £:14,000, B 458 000 62% |15, N b
JL335 000 59%  A:16,000. £:20,000, £:14,000, B 458 000 62% _ A:15,000, £:19,000, £:13,500, B
EE JL300 000 62% 458 500 63%
JL302 000 62% 458 500 63%
JL304 000 62% 458 500 63%
JL306 000 56%  A4:17,000, £:15000. A:14,500 458 000 59%  A2:16,000, £:14,000, B:13,500
JL 000 56%  A%:17,000, + H:15000 458 000 59%  A%:16,000, + H:14.000
JL 000 56%  :16,500, £:17,000. £ H:15,000 458 000 59%  £:16000, +H:14000
JL 000 5% 458 000 62%
JL 000 5% 116,000 458 000 62% 15,000
JL 000 59% :16.000 458 000 62% 15,000
JL320 500 55% :17,000, £:15,000 458 000 59% :16,000., £:14,000
JL322 000 56% :18,000, £:14,800 458 000 59% :17,000, £:13,800
JL324 000 56% :18,000, £:14,800 458 000 59% +17,000, £:13,800
JL326 000 56% :18,000, £:14,800 458 000 59% +17,000, £:13,800
JL328 500 55% 458 500 58% 118,000, +:13,800, H:17.000
JL330 500 55% 458 500 58% :
JL332 000 5% 458 000 62%
JL334 000 62% 458 500 63%
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EEERE 2012/10/30
T/7-11. 1/15-31 712
= 4 == == 5 5478 S4TA 5478 4478
T %Esﬁ % BAME %Esﬁ SEIE % EEE BEE BEE
RR(HE) =R | RR(PE)K |_JL01 Bl 800 45881 500 64% & 1:17.000 800 000
JL903 300 5,800 458 500 62%  ©+:17,500, H:14500 ,300
JL905 800 900, F:16.800 458 000 58% 500, % +:19,100. H:16,000 900
JL907 300 900, H:17.300 458 000 61% 900
JL909 900 458 500 62% ,900
JLOt 900 458 500 62% ,900
JLOT 900 458 500 900
JLOT 300 458 500 500
JL92 300 458 500 500
JL3945 300 458 500 500
JL923 300 458 500 500
JL925 300 458 500 300
JL927 300 458 500 300
(T | JL900 200 458 500 200
JL902 200 458 500 200
JL906 200 458 500 200
JL908 300 458 500 62% 300
L 000 458 500 64% 16.000 000
L 000 458 500 6% 8,500 000
L 000 458 500 6% 18,500 000
300 458 500 60% 0,500 300
300 458 500 60% 0,500 300
300 458 500 60% 0,500 300
300 458 500 60% 20,500 300
300 458 500 4 :17.500 300 17
300 ¥ 458 500 4 17,500 300 ¥ ) 500
RIR (B =HIREFFTR) | XKIR(EH R 000 59% /7B 458 000 1 /1B — — — — —
000 59% & :18,000 458 000 1% &+:17.000 18,000 17.000 17.000 16,000 17.000 16,000
500 55%  HK:16,500, %:18,500, £:15,500 458 700 62%  H k13,700, %:17,700. £:12,700 18,500 15,700 15,200 17,700
ARFTRE[ Y 000 61%  :18000 458 700 69%  :14.700 17,000 16,800 12,700 12,700
000 50%  1/738f 458 000 61% — — — —
000 59% 458 000 61% 1000 16,000 17,000 17,000
K (BT =FLIR (FFF&%) | AIR(BE) % | J 100 63% 458 700 67% 000 700 700 700
600 65% 458 200 68% 500 200 200 200
100 71% 4,500 458 700 72% 500 700 700 700
500 65% 000, H:16.100 458 700 72% 500 700 200 700
ARFTRE[ Y 100 7% 500 458 700 74% 100 700 700 700
100 71% 500 458 700 74% 100 700 700 700
600 65% 000 458 200 68% 600 200 200 200
600 65% 000 458 200 68% 600 13,00 14,200 14,200
KIR (573 =78 K (7 5 000 50% 458 500 52% 1,000 500 500 500
000 50%  1/738f 458 500 52% — — — —
000 45% 458 500 47% 12.000 11,500 12,000 11,500 12.000 11,500
EE 000 50% 458 500 52% 11,000 10,500 11,000 10,500 11,000 10,500
000 454 1/738f 458 500 47% /78R — — — — — —
000 45% 458 500 47% 12.000 11,500 12.000 11,500 12.000 11,500
KIE (D) =@ (BE) | KIR(FFDF [_JL2081 500 52% % :18,500 458 400 55% % 1:17,500 18,500 17,500 16,500 15,400 16,500 15,400
L2085 500 58%  1/738f 458 400 61%  1/738f — — — — — —
(e % |_JL2086 500 52% B 458 400 55% i — — — — — —
L2088 500 5% 8500 458 400 55% 16,500 18,500 17500 18,500 17500
KR (BT) = /¥ (Fh%h) | AR (BIgs)3e | JL2671 000 56% :17,000 458 400 61% — — = = —
P (RE | JL2582 000 56% 7,800 458 400 61% —
BE=ILRFHTR) ESEES L35 500 60% 2,500 458 500 62% 9500
L35 500 60% 2,500 458 500 66% 17,500
ARGFTa % | I35 500 60% 500 458 7,500 66% 19,500
500 60% 1,500, H:22.500 458 500 62% 21,500
R (AH) =&Esl ERABE)E [ J 300 63% 7,800 458 000 68% 13,000
300 63% 7,800 458 100 66% . 100
300 63% +:17,800, H:15800 458 100 66% +:16,600, H:14,600 800 14,600
B3] 400 60% 458 200 63% 400 200
400 65%  H:18.900 458 100 66%  H:17.700 400 700
400 65%  H:18.900 458 200 68%  FH:17.700 400 7,700
R (WE) =)l ERABEE [ J 900 65% 458 100 67% 900 100
800 63% % 1:19,800 458 000 65% % :19,000 800 14
800 63% 18,800 458 000 65% % :18,000 800 12
800 68%  ©:13500, A:12,000 458 000 70%  £:12.700, A:12.100 800
JEES 800 68% 458 000 70% 800 12
800 68%  [H:15800 458 000 70%  H:15000 800
L1t 800 65%  H:16,800 458 000 70% _ H:16.000 800 16
L1t 800 63% 458 000 65% 800 14
RR CHE) =3I RERAE) S [ JL 000 61% £:19,400 458 000 64% % 18,400 400 14
L 000 67% 114,100 458 000 69% H:13.100 000
L 500 68% 115,100 458 000 69%  F:14.100 500
ElZE L 500 68% £ A:13,000 458 000 69% 000
L 500 60% 119,400 458 4% H:18.400 500
L 000 1 119,400 458 4% | F:18.400 ,000
R (AH) =HE ERABE)%E [ J 800 4 £:19,800 458 &+:18.800 800
800 4 458 800 12
800 4 458 800 12
800 59%  A:13800. A:19,800 458 712,800, H:18,800 800 16
HEFE 800 1 113,800, %:18,800, £:19.800 458 4 112,800, %:17.800, £:18.800 800 12
800 4 15,800 458 7 114,800 800 12
800 4 15,800 458 7 114,800 800 12
800 4 117,800, H:19.800 458 7 116,800 H:18,.800 800 16
R (TH) =BE R (HE) 5 100 52% £:19,800 458 7 £:18,300 800 13
100 49% £:19,200 458 4 £:17.700 200 14
400 50% 115,900 458 59% 400, H:13,500 400 E
WEE 500 47% 458 52% 500 E
200 52% 458 56% 700 200
200 52% 458 56% 700 200
TR (PH) =7 R (HE) 5 500 52% 458 57% 000 000
000 40% 458 4% 000 000
500 52% 458 55% 000 500
000 47% 458 50% 000
000 40% £ 619,000 458 42% £ [:18,000 000
500 52%  H:16000 458 55%  H:15000 500
AR 500 49% 458 52% 500 14
000 4% 458 47% 000
500 49% 458 52% 500 14
500 52%  £:16000. +:14,000 458 55%  %:15000. +:13,000 000 13
000 40% _ £:19.000, +:16,000 458 44% _ %:18.000, £:15,000 000
500 52% % [:15000 458 55% % [:14,000 500
R (AH) = ERABE)%E [ J 500 7 114500 458 113,500 500 13
500 7 458 500 14
500 7 458 500 14
=RE 500 7 458 500 14
500 7 458 500 12
500 7 114500 458 £H:13500 500 E
R (WH) =HE R (HE) 5 700 4 2700 458 4 2200 700
900 39 5400, H:14,400 458 41%  £:14900. A:13.900 400 E
900 48% 114,400 458 52% 3,200 900
900 48% A H:14,900, %:15400 458 50% A 14,400, %:14,900 900
HERE 900 39%  #:15,900 458 41%  #+:15,400 900
900 48% 458 52% 900 K
900 43%  $[:14,900 458 46% % [:14,400 900
900 48%  £:15900, A:13.900 458 50%  £:15400, A:13.400 900
ER(FH) =1k EEAEEES 500 42% — 500
(% 500 42% — 500 E
R (AH) =/ R (HE) 5 700 37% 500 458 42%  £:13.200. A:12,500 200
900 3% 700 458 37% 114,700 700 13
000 a1% 100 458 50% 100 ,000
000 5% 100 458 50% 100 000
200 35% 114,800 12,000, A:15,200 458 40% 113,800 11,000, A:14.200 000
900 37% 115,200, £:12,000 458 a1% 114,200, £:11,000 000
IR 000 45% 113,200, :12.700 458 50% 112,200, :11.700 700 1
200 40% 458 2% 200
200 40% 114,100 458 2% 113100 200
400 39% 114200 458 43% 113200 600
200 35% :15,200 458 40% 114,200 200
400 39% 115,400 458 43% 114,400 400
R (PE) =i RR(PE)R 000 48%  +:17.500 — 500 —
500 40% — — 7,500 —
300 42% £ [:16,800 300
AREER 800 46% 300
300 42% _ H:16,800 300
800 42% £ [:18,000 — — 800
R (FHE) =0 R (HE) 5 100 60% 45BH] 61% 100 11,600 11,600
000 57% 45871 58% 000 12,500 12,500
100 60% 458 61% 100 11,600
500 58% 458 61% 500 11,800
500 52% | £:14000 458 53% | F:13500 000 ; 14,000
EITES 000 60% 4587 62% 000 000 11,500
000 53% | HK:13,500, H:13000 458 55% | HK:13,000, H:12,500 000 000 12,500
000 57% 458 58% 000 12,500
700 54% & [:14,000, :13000 4588 56% & H:13,500, :12.500 000 X 13,500
000 53% 45881 55% 000 14,000 13,500
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578

FH
% AR %
458 B
000 458 ,500
000 458 ,500
,200 458 .700
,200 458 .700
,000, H:14,000 458 .500, H:13,500
:15,000 458 :14,500
:15,000 458 :14,500
458
H:12.500 458 H:12,000
458
14,500, £:13,000 458 14,000, £:12,500
:15,000, +:13,500 458 :14,500
:15,000, £:14,000 458 :14,500, £:13,500
+16,000, £:13,500 458 :15,500, +:12,500
+16,000, £:13,000 458 15,500, £:12,500
458
£ 4:17,000, H:14,000 458 £ 416,600, H:13,600
£H:15,000 458
1:14,000 458
458
458
458
£H:17,000, £:13,700 458 £H:16,600, £:13,300
458
458
458
458
458
:19.100 458 £H:18,200
4,000 458
1:18,000 458 £:17.100
17,000, £:16,300, H:16.800 458 16,100, £:15.400, H:15,900
:17,200, £:16,500 458 :16,300, £:15,400
:16.900 458 :16,000
:16,000 458 :15,100
458
458
458
458
458
458 1
458 1
458 1
458
458
458
458
458
200 458
500 458
500 458
200, £:13,500 458 200, £:12,500
200, £:15,500 458 200, £:14,500
200, H:12,900 458 200, H:11.900
5,700, B:13,900 458 700, H:12,900
4,700 458
:14,700, H:16.400 458 :15,400
:16,700, +:16,500 458 5,700
:17.400, £:16,500, H:16.700 458 :16.400, H:15,700
+:15,000 458 o
5,000, +:16,000 458 A 215,
:15,000, H:15,200 458 :14,000, H:14,200
+15,000, H:15,200 458 +14,000, H:14,200
:16,000 458
+:15,000 458
+:14,000 458
:17.000, H:15,000 458 +16,000, H:14,000
:17.000, H:16,500 458 :16.000, H:15,500
7.000, H:16,500 458 :16,000, H:15,500
458 +£:13.000
458
458
458 :13,000
458 :17.000
458 :17,000
458 :13,000
458 :17,000, H:13,500
X 458 4,000
000, H:15,500 458 :14,000
500, H:16.500 458 :14,500, H:15,500
.500, H:16.000 458 :15,500, H:15,000
JL +£:12.000 458 +:11.900
JL :16.500, H:14.000 458 300
JL 458 800
JL :18,000 458 :13,800
JL 5,000 458 1 H8:12,100
JL :14,500, H:12,500 458
JL t:16,500, B:13,500 458 £1:13,800
JL 458
JL :16,000, H:15,000 458 :13,300
L :15,000, +:12,500, H:13,500 458 £ H:12,100
6,500, 1:15,000 458 :15,000
t:16.500 458 +£:15.000, H:13,500
458
458
,500 458 ,500
458 ,500
458 000
458 .500
458 .500
458 000
458 ,000, +:15,000
458
458
458
:17,500, H:16,500 458 :16,500, H:15,500
:17.500, H:17.000 458 +16,500, H:16,000
:17.500 458 :16,500
.500, H:16.000 458 .500, H:15,000
000 458 000
,000 458 ,500
,500 458 000
:17.500 458 :16.500
:17.500 458 :16.500
:17.500 458 :16,500
458
458
458
:16,500 458 4,500
+16,500, H:15,000 458 4,500
:17.000 458 :15,000
:17.500 458 5,500
:17.500 458 5,500
,500 458 ,700
,500 458 ,700
,500 458 000
.500, H:16.000 458 ,000, H:14,000
458
458
17,500 458 5,500
+17.500, H:16,000 458 :15,500, H:14,000
458
458
- 458
6,000, B:15,000 458
4,500, H:16.500 458 3700, H:15.500
8,000, H:16.500 458 :17.000, H:15,500
+£:16.000 458 % +:15.000
458
:17,000 458 :16,000
458
458 ES
458 £
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547A 5478
A e O —— e % TER e
= #)31% " BAL #)31% "
R (EH) =ERS R (HE) 5 B 500 63% 458 81 67%
[J 300 53% 18,800, H:16,800 458 59% 16,800, H:14,800
[J 300 53% & +:18,800, H:16,800 458 59% 116,800, A:14,800
[J 500 63%  7:16,500, £ +:18.000. A:17,000 458 67%  A:14,500, £ 1:16000. A:15,000
500 63%  +:15.700, A:17.000 458 67% 3,700, B:15,000
500 63% £ [:17,500 458 67% 115,300
700 57% % 0:17,300, £:16000 458 62% 115,300, £:14,000
700 57% £ H:17,300, :16,000 458 62% % H:15,300, :14000
ERBR 500 63% 458 67%
[J 000 61% £:16.200 458 67% £:14,200, H:13000
[J 000 61% 8 458 67% +:14,200, H:13,000
500 63% 116,500, B:17.200 458 67% 114,500, H:15.200
500 58% 117,500, H:17.200 458 63% 115,500, H:15.200
000 56% 118,000, +:16.800 458 61% 116,000, +:14.800
800 57% 117,500, +:16.000 458 62% 115,500, +:14,000
000 59% 116,800 458 6% 114,800
RRNE) =BEXE | Bm(OH) % 800 31% 458 46% £:29,000
EEXBSR L 800 31% 458 46% 129,000
RRE(E) =XR(FF | BRREEE | J 000 42% 458
000 42% 458
KIE (D% [_JL 000 42% 458
000 42% 458
RER(RE) =HRFTH) | "r(KHE 300 1% &F:19600. H:13,500 458 53% % :18,900, H:12,800
400 4 7%:16,400, #:19,000, 1+:13,800, H:14,800 | 458 56% 715700, £:18,300, +:13,100, H:14,100 | 1
400 400, 118,000, F:12,800. H:13,800 | 458 59% 700, £:17,300, F:12,300, B:13,100 |1
AREFTR) % 300 X 458 53% X
300 300, H:19.300 458 59% 600, 18,600
300 300, F:19.300 458 59% 600, FH:18,600
RR(E)=2ER(PH) | RRGEEE | J 200 22 458 30%
700 458 30%
700 458 30%
BHE(PH R J 700 458 30%
700 458 30%
200 22" 458 30%
R () =18 ER(RE)FE [ J 000 51%  £:17.000. A:14.300 458 54%  £:16000. A:13.500
000 62%  £:15500, A:16,000 458 63%  £:14500, A:15,000
000 59%  K:16,000, £:20.000, H:17,000 458 62% 715,000, £:19,000, £:13,500, H:16,000 | 1
mEE | J 000 62% 458 63%
000 59% 116,000 458 62%  H:15000
500 58% :16.000 458 62%  H:15000
ER(RE) =5 BH | AREE)E 300 60% 400, 116,500, A:17.400 458 64%  :16,500
il (IRE) 5 300 58% 1000 458 62%
KR () =5 AR (D% | J 500 31% — —
500 e — —
500 36%  H:25500
AR [J 500 36%
500 36%  H:25500
500 36% & H:25,500 —
KR (B =8B KR () % 500 59% 45 BB
500 59% 45E R
500 59% 45E R
HERE 500 59% 45881
500 59% 45E R
500 59% 45E 81
KR () =7e% KR () % 000 32% o
[J 500 36% — —
000 32% 06500
EEx | J 000 32% % :26,500
500 36%
000 32% 126,500
KR () =1L AR (D% | J 800 41% :17.000
800 38% :19.000
800 38% 122,000
wiE [ 800 38% :19.000 — —
800 38% 119,000 — —
800 38% 122,000, £:20,000 — —
KR (B =1LE KIE (B35 [ J 000 61% +:14,000 458 63% £:13500
[J 000 58% 000, F:13500 458 59%
[J 000 61% 000, F:14.500 458 63% 500, B:14,000
000 61% 000, H:14.500 458 63% 500, A:14,000
000 61% 114,800, 12,800, A:16,000 458 63% 114,300, +:12,300, B:15,500
000 48% 8,000, £:15.000, H:17.000 458 50% 117,500, +:14,500, B:16,500
wEE | 000 8% 458 50%
[J 500 46% 458 48%
[J 000 55% 116,000, £:15,000. B:16,500 458 56% 500, +:14,500, H:16,000
[J 500 53% 117,000, + 458 55% 500, £
500 53% 118,000, A 458 55% 500, B
1 000 55% 500, B 458 56% 000. H
KR () =#1i8 RBR (DR L224 000 52%  +:14.800 458 53%  +:14,000
L224: 000 52% % H:15,000, £:13800 458 53% | [:14,500, £:13300
L225 500 47%  £:16000. A:17.000 458 48%  £:15500, A:16,500
FRE L2240 500 43% 458 45%
[ JL2244 000 52% 115,000 458 53% 4500
L2250 500 50% 6,000, £:14,000, H:17.000 458 52% 5500, 113,000, A:16,500
KR (B =K% KR (B35 [ J 500 30% 4,000, F:13000 458 33% 3500, A:12,500
000 33% 4,000, B:14,400 458 35% 113,500, H:13.900
ARE | 000 33% 114,000, +:13,500 458 365% 113,500, £:13,000
000 27% 114,400, +:13,000 458 30% 113,900, £:12,500
KR (B =R KR (7 5 200 45% 15,200 458 47% 114,700
200 53% 113,900+ H:12,900 458 5% 113,400 1 H:12.400
400 8% 114700 458 50% 114200
REX 200 53% £ A:12,900 458 5% £ A:12,400
200 53% £ A:12,900 458 5% £ A:12.400
400 52% 113,400, H:13,.800 458 5% 112,900, H:13,300
KR () =feA AR (D% | J 800 50% +: 458 52% +:
300 48% +:13,800, H:13,300 458 51% £:13,000, H:12.500
000 45%  A%:13)500, +:12,500, H:13600 458 47% A #:13,000, F:12,000. B:13,100
AR 500 47% 3,000 458 49%  +:12,500
300 43%  £:13900. +:13,000, H:13,800 458 46% | $:13,100, £:12.500
000 25% 458 47% _ £0:13,300
KR () == KR (7 5 000 29% 458 51%  +:13000
[J 000 36% 458 38% % :16,000
[J 300 39% 458 43% 6,000
300 39% 458 43% B
000 40% 458 43% _ #:16000. A:15,500
000 0% 458 43% 000, H:15,500 000 15,500
EEE I 500 43% 458 45% X 500 13,000
[J 100 40% 458 45% 113,500 14,500, B:15,000 ,000 15,000
800 37% 458 39%  £:14900, A:15,300 800 . 15,300
[J 800 458 39% 900, H:15,300 800 ¥ 15300 | 1 15,300
[J 800 33% 458 37% B — — — — —
300 35% 458 37% +15,800 15,300 14,800 16,300 15,800 16,300 15,800
KR () =ERE KR () % 500 53% 458 55% 1B - — — — — p—
500 53% 458 55% TR =
ERBR 000 55% 458 58% TR -
000 55%  1/7iBft 458 57 B — — — — — —
KB =BEXE | AREFMHE [ J 300 27% 458 26,300 16,500 26,300 16,500 26,300 16,500
300 27%  1/738f 458 /75845 — — — — — —
BEXBR 300 27% 458 26,300 16,500 26,300 16,500 26,300 16,500
300 27%  1/738f 458 B — —- — — — —-
ZEE (PR = AR FTR)| 2AR (P8 X[ _J 300 59% 300 458 63% 7,200 300 300 700 300 700
500 100, B:15,500 458 63% 6,200 100 500 13,700 500 13,700
500 100, B:16,300 458 63% 5,700, B:15,500 100 300 300
500 100, A:18,000 458 66% 4,800, A:16,500 .100 000 | 18,000
500 116,100, H:17.400 458 66% 114,800, +:13,700. B:16,500 500 400 400
ARFTR) R 500 458 66% 500 [14500 500
500 15,400, H:13,800 458 66% 400 400 800 | 13.800
300 59% 458 62% 500 ,300 ,300 ,300
300 59% 458 61% 500 ,300 ,300 ,300
500 61% 458 6% 500 500 300 300
BEE MO =18/ AEBRUNMOR 800 42% — — .800 ,800 800
[J 800 42% — — 800 800 800
800 42% 800 800 800
[J 800 42% 800 800 800
800 42% 800 800 800
ESEES 800 42% 800 800 800
800 42% 800 800 800
[J 800 42% 800 800 800
[J 800 42% 800 800 800
800 42% 800 800 800
ZREMO=FE [REE(MOX 000 49% 000 000 000
000 49% 000 000 000
BEEUMO=KF [2EE(MOE[ L 500 7 500 500 500
L 500 7 500 500 500
L 500 7 500 500 500
AR L 500 7" 500 500 500
L 500 7 500 500 500
L 500 7 — — 500 500 500 —




[8%3 @8R (1 H70 ~31AHRD)

EEEAA ;. 2012/10/30

T/7-11. 1/15-31 T
HTA 5478 547TA
=) g = <
FH BB BB P

pagE P g3 % LS % R
WREFTFR) =%@R | AREFTR)E Al 700 45% 48% .700
700 45% 48% 700
700 45% 48% 700
B3] 200 43% 45% 200
700 45% 48% 700
700 43% 700
HIRGFHTR) =5 HRGFTFR R[] 000 — 000
7,000 — 000
7,000 000
s 7,000 000
7,000 000
7,000 000
LREFFR =HE [ARGFTRE[ Y 7,500 29%  F:18.500 500

7,500 29%  1/73Bfi —
7,500 29% 17,500
HERE 7,500 29% 17,500

7,500 29% 1/738f1 —
7,500 29%  H:18500 500
HIRGEHTR) =15 R TR [ 500 7 500
500 500
500 500
B 500 300
500 500
500 500
FR=IRFTR) FRE 600 £:18.900. £:17.400. 14900 400
900 53% 458 900
ARFTR) % 600 54% 458 600
400 4a% 18,400 458 7.400 400
WE=ARGFTH WEs 100 36% 8,300 458 7,800 300
500 56% 4,500, H:13,100 458 4,000, H:12,600 500
500 56% +14,500, B1:13,100 458 £:14,000, H:12,600 500
100 47% 118,100, B:16.100 458 600, H:15,600 100
500 49% 600, B:15.500 458 100, H:15,000 500
ARFTRE Y 800 48% 500 458 000 500
500 9% 115,500, £:17.000, H:14.800 458 215,000, £:16.500 000
300 50% % 7,000 458 £ H:14500, £:16,500 000
500 45% 7,500, F1:19.100 458 +:17.000, H:18,600 500
100 36% 8400, £:15,500. B:19.600 458 38% _ %:17.900. £:15,000, H:19.100 500
HRGHTR) =Fx  [HEGTR R 800 25% — — 800
(7% 800 25% — — 800
EE=RFHTR) A 400 | 62% &E:19.100 45EH] 64% 18,300 100
ARG TE) 900 63% £+:17.800. H:18,600 458 % +:16,900, H:17.800 800
BE=17% EEiE] 900 40% 4587 900
1% 900 40% 4587 900
BE=E EEEE: 400 51% 4587 400
900 50% 4587 900
WEs 900 50% _ H:21.400 4587 H:20.900 900
400 51% 45881 400
e 800 57%  FH:18.800 — 800
800 57%  %:18,800 800
[HEREES 800 35% 800
800 35% — 800
Em=15E L. 800 48% 800
L. 800 48% 800
L. 800 48% £ H:17.800 800
BERX L. 800 48%  £1:17,800 800
L: 800 48% 800
L: 800 48% 800
BE=mHM REX | JL3581 500 22% 119500 500
L3589 500 22% 119,500 — 500
B | _JL3582 500 22% _ +:19.500 — 500
JL3588 | 28H 500 22% _ %H:19500 — 18,500




o 4 o
R—N\—4%BIHEEXROH78~31HEESY) AL
EEERE 2012/10/30
" 1/7-11. 1/15-31 1/12 1/13 1/14
%n‘ N
o BE \mamm| wmg  EDY s R | ERE | ERE
R CRE) =Xk (FF) RECRHE) % JL101 55 B Bl 8,700 61% 8,700 8,700 8,700
JL103 | 55H8T | 10,000 56% | +:10,500. H:9,600 10,500 9,600 9,600
JL107 | 55H81 10,900 52% | H:9,600 10,900 9,600 9,600
JLI11_| 55H81 | 10,900 52% | H:9,600 10,900 9,600 9,600
JL113 | 55881 10,000 56% | 1:10,900. H:9,600 10,900 9,600 9,600
JL115_| 55H87 | 10,000 56% |3 9,600 9,600 9,600
JL117_| 55881 10,000 56% |3 9,600 9,600 9,600
JL119 | 55H81 9,000 60% | A2 9,000 9,000 9,000
JL121 | 55H8T 10,900 52% | +:9,000, H:9,600 9,000 9,600 9,600
JL125 | 55H8T | 10,900 52% | K%£:11,400, +:9.000. H:9,600 9,000 9,600 9,600
JL127 | 55881 10,900 52% A% H:11,900, £:9,000 9,000 9,600 11,900
JL131 | 55H81 | 10,900 52% | AZH:11,900, 1:9,000 9,000 9,600 11,900
JL133 | 55H8T 10,900 52% 9,000 9,600 11,900
JL137 | 55H#I | 10,900 52% 11, 9,000 9,600 11,900
JL139 | 55H#T 10,900 52% :12,400, £:9,000, H:11,900 9,000 9,600 11,900
ABR (FFFH) % | _JL102 | 55871 | 10,500 53% | H:11,900, & H:9,000 9,000 9,000 9,000
JL104 | 55H8T 10,900 52% | H:11,900. X H:9,000 9,000 9,000 9,000
JL106 | 55H@T | 11,900 47% | H:9,000 9,000 9,000 9,000
JL110 | 55881 11,900 47% | £ H:9,000 9,000 9,000 9,000
JL112 | 55H#T | 10,000 56% | H:9,000 10,000 9,000 9,000
JL114 | 55881 10,000 56% |1 H:9,000 9,000 9,000 9,000
JL116_| 55H81 9,000 60% | H:9,500 9,000 9,500 9,500
JL118 | 55881 9,000 60% | H:9,500 9,000 9,500 9,500
JL120 | 55H81 9,000 60% | H:9,500 9,000 9,500 9,500
JL124 | 55881 9,000 60% | H:9,500 9,000 9,500 9,500
JL126 | 55H81 9,000 60% | H:11,400 9,000 11,400 11,400
JL128 | 55H8T 9,000 60% | H:11,400 9,000 11,400 11,400
JL130 | 55H8T | 10,900 52% | £:9,000, H:11,900 9,000 11,900 11,900
JL134 | 55H#T 10,900 52%  |2:12,400, £:9,000. B:11,900 9,000 11,900 11,900
JL138 | 55H8T | 10,900 52%  |2:12,400, £:9,000. A:11,900 9,000 11,900 11,900
RRCHE) =Xk (BfE) | RECAE)H | JL189 | 55HHM 10,900 52% | A%£:12,400. B:11,900 10,900 11,900 11,900
ABR (BAFE) % | JL172 | 558A1 | 10,000 56% | H:11,900 10,000 10,000 10,000
RECHHE) =R #FHFR) | BERPIE)FE JL501 55 B Bl 10,000 70% 10,000 10,000 10,000
JL503 | 55H@T | 11,700 65% = 1:16,700 16,700 11,700 11,700
JL505 | 55H@T | 11,900 64% | A:12,400. £1:16,700 16,700 11,900 11,900
JL507 | 55H8T | 14,800 56% |2 1:18,000. H:12,100 18,000 12,100 12,100
JL509 | 55H#T 14,800 56% |2 1:18,000. H:12,100 18,000 12,100 12,100
JL511_| 55881 | 11,900 64% | A:12,400. £1:16,700. H:12,100 16,700 12,100 12,100
JL513 | 55H#1 11,700 65% |/k:12,400, & +:16,700, H:11,400 16,700 11,400 11,400
JL515 | 55H8T | 11,700 65% |2 1:13,800. H:11,900 13,800 11,900 11,900
JL517 | 55H81 11,700 65% |%:13,100, £:12,100. H:11,900 12,100 11,900 11,900
JL519 | 55H8T | 11,700 65% |2:13,100, £:12,100, H:11,900 12,100 11,900 11,900
JL3933 | 55H#T 11,700 65% |%:13,100, £:12,100. H:11,900 12,100 11,900 11,900
JL521 | 55H8T | 11,700 65% |2:13,100, £:12,100, H:11,900 12,100 11,900 11,900
JL523 | 55H#M 11,700 65% |2:14,500. H:11,900 11,700 11,900 11,900
JL525 | 55H@T | 11,700 65% |2:16,400, H:11,900 11,700 11,900 11,900
JL527 | 55H@T | 12,900 61% | A:13,900. £:16,400, £:11,700. H:11,900 11,700 11,900 11,900
JL529 | 55B1 | 12,900 61% |£:16,400, T:11,700 11,700 12,900 12,900
JL531 | 55H#1 12,400 63% |%:16,400, £:11,700. H:11,900 11,700 11,900 11,900
FLOR (FrF %) F [ JL500 | 55HBI 14,800 56% | H:11,900 14,800 11,900 11,900
JL502 | 55H#T 14,800 56% | H:11,900 14,800 11,900 11,900
JL504 | 55HFI | 13,900 59% | H:11,900 13,900 11,900 11,900
JL506 | 55H&T | 11,900 64% 11,900 11,900 11,900
JL508 | 55H#I | 11,900 64% 11,900 11,900 11,900
JL3934 | 55HHT 11,900 64% 11,900 11,900 11,900
JL510 | 55H87 | 11,900 64% | 2:12,400. H:13,400 11,900 13,400 13,400
JL512 | 55H81 12,900 61% |£:14,800. H:17,600 12,900 17,600 17,600
JL514 | 55H#I | 12,900 61% | 2:14,.800, H:17,600 12,900 17,600 17,600
JL516 | 55H®1 12,900 61% |£:14,800. H:17,600 12,900 17,600 17,600
JL518 | 55H8T | 12,900 61% |2:14,.800, H:17,600 12,900 17,600 17,600
JL520 | 55H81 12,900 61% |£:14,800. H:17,600 12,900 17,600 17,600
JL522 | 55H8T | 12,900 61% |2:14,.800, H:17,600 12,900 17,600 17,600
JL524 | 55H#T 12,900 61% |£:13,800. H:17,600 12,900 17,600 17,600
JL526 | 55H@T | 12,100 64% | £:12,900. £:12,400, H:16,700 12,400 16,700 16,700
JL528 | 55H®T 11,700 65% |£:12,900. H:15,700 11,700 15,700 15,700
JL530 | 55H#I | 11,700 65% | 2:12,900, H:14,300 11,700 14,300 14,300
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RRECPH) =1&k[H RRCHE)F | JL301 55 H &l 10,800 71%  |£:11,800, £:13,300 13,300 10,800 10,800
JL303 | 55HAM 11,800 68% | A% 1:13,300, H:12,300 13,300 12,300 12,300
JL305 | 55HAI 15,200 50% | A%:15,600, £:14,300, H:12,300 14,300 12,300 12,300
JL307 | 55HAI 16,100 56% | A%:16,600, 1:15,300, H:12,300 15,300 12,300 12,300
JL309 | 55HAI 16,100 56% | A%:16,600, £:15,300, H:12,300 15,300 12,300 12,300
JL311 55 H &l 15,200 59% | +:15,300, H:12,600 15,300 12,600 12,600
JL313 | 5580 13,300 64% | A%:14,200, 1:14,300, H:12,600 14,300 12,600 12,600
JL315 | 55HAI 13,300 64% | £:14,200, 1:14,300, H:13,100 14,300 13,100 13,100
JL317 | 5580 13,300 64% | #::14,200, 1:14,300 14,300 13,300 13,300
JL319 | 55HAI 13,300 64% | £:14,200 13,300 13,300 13,300
JL321 55 H &l 11,800 68% |%:13,700, H:13,300 11,800 13,300 13,300
JL323 | 55HAI 11,800 68% |%:13,700, H:14,300 11,800 14,300 14,300
JL325 | 55HAI 11,800 68% |%:13,700, H:14,300 11,800 14,300 14,300
JL329 | 55HAI 11,800 68% | A:14,300, £:18,100. H:15,200 11,800 15,200 15,200
JL331 55 H &l 11,800 68% | /A:14,300, %:18,100, H:15,200 11,800 15,200 15,200
JL333 | 55HAI 11,800 68% | A:14,300, £:18,100. H:15,200 11,800 15,200 15,200
JL335 | 55HAI 11,800 68% | A:14,300, %:18,100, H:15,200 11,800 15,200 15,200
FERES JL300 | 55HAI 11,800 68% F:12,300 12,300 11,800 11,800
JL302 | 55HAI 11,800 68% 12,300 12,300 11,800 11,800
JL304 | 55HAI 11,800 68% 12,300 12,300 11,800 11,800
JL306 | 55HAI 14,300 61% :15,200, :13,300, H:11,800 13,300 11,800 11,800
JL310 | 55HAI 14,300 61% *% 15,200, + H:13,300 13,300 13,300 13,300
JL312 | 5580 11,800 68% | H:14,300, %:15,200, X H:13,300 13,300 13,300 13,300
JL314 | 55HAI 11,800 68% ée_ 13,300 13,300 13,300
JL316 | 55HAI 11,800 68% > 13,300 14,300 14,300
JL318 | 55HAI 11,800 68% 13,300 14,300 14,300
JL320 | 55HAI 14,300 61% 13,300 15,200 15,200
JL322 | 55HAI 14,300 61% éea.m,zoo 13,100 16,200 16,200
JL324 | 55HAI 14,300 61% | H:16.200. L.13, 13,100 16,200 16,200
JL326 | 55HAI 14,300 61% |2 H:16,200, :13,100 13,100 16,200 16,200
JL328 | 55HAI 14,700 60% |£:17,200, £:13,100. H:16,200 13,100 16,200 16,200
JL330 | 55HAI 14,700 60% | %:17,200, 1:13,100, H:16,200 13,100 16,200 16,200
JL332 | 55HAI0 11,800 68% |%:16,200, H:15,200 11,800 15,200 15,200
JL334 | 55HAI 11,800 68% |%:13,900, H:14,300 11,800 14,300 14,300
BRI CPIH) =8 (%) B (CFIH) % JL901 55 B Bl 12,700 69% | £ 1:16,000 16,200 12,700 12,700
JL903 | 55HAI 14,700 64% % 1:16,600, H:13,700 16,600 13,700 13,700
JL905 | 55HAI 16,200 60% A 6 600, %= +:18,100, H:15,200 18,100 15,200 15,200
JL907 | 55HAI 15,000 63% |4 17,000 15,000 15,000
JL909 | 55HAI 14,500 64% 16,500 14,500 14,500
JL913 | 55HAI 14,500 64% 16,500 14,500 14,500
JL917 | 5580 13,700 66% 13,700 13,700 13,700
JL919 | 55HAI 13,700 66% 13,700 13,700 13,700
JL921 55 B Bl 13,700 66% 13,700 13,700 13,700
JL3945 | 55HAI 13,700 66% 13,700 13,700 13,700
JL923 | 55HAI 13,700 66% 13,700 13,700 13,700
JL925 | 55HAI 13,700 66% | £:18,100 13,700 13,700 13,700
JL927 | 55HAI 13,700 66% |%:18,100 13,700 13,700 13,700
h#E (FRE)H | JL900 | 558N 13,700 66% 13,700 13,700 13,700
JL902 | 55HAI 13,700 66% 13,700 13,700 13,700
JL906 | 55HAI 13,700 66% 13,700 13,700 13,700
JL908 | 55HAI 14,500 64% 14,500 14,500 14,500
JL910 | 55HAI 13,700 66% | H:15,000 13,700 15,000 15,000
JL912 | 5580 13,700 66% | H:17,600 13,700 17,600 17,600
JL914 | 55HAI 13,700 66% | H:17,600 13,700 17,600 17,600
JL916 | 55HAI 15,500 62% | H:19,000 15,500 19,000 19,000
JL920 | 55HAI 15,500 62% | H:19,000 15,500 19,400 19,400
JL922 | 55HAI 15,500 62% | H:19,000 15,500 19,000 19,000
JL3946 | 55HAI 15,500 62% | H:19,000 15,500 19,000 19,000
JL924 | 55HAI 12,700 69% | H:16,500 12,700 16,500 16,500
JL928 | 55HAI 12,700 69% | H:16,500 12,700 16,500 16,500
KR (FFD =4I 3 Fm) | KBRUFFHFE | JL3911 55 B &il 15,100 63% 1/7:&M j— p— p—
JL2001 | 55HAI 15,100 63% | % 1:16,000 16,000 15,100 15,100
JL2019 | 55HAI 13,800 67% | H:k:11,800, £:15,500, £:10,800 13,800 13,500 15,500
FLOR (FrF %) F [_JL2000 | 55HBI 11,800 71% _ |$:13,800 15,800 11,800 11,800
JL3912 | 55HA0 15,100 63% | 1/7&f1 — — —
JL2016 | 55HAI 15,100 63% | H:16,000 15,100 16,000 16,000
KBx (B87E) =4#Lig (BT F%) | RBR(B#FE)F | JL2503 | 55HAL 12,300 70% | & 1:14,300 14,300 12,300 12,300
JL2505 | 55HAI 12,300 70% & +:13,800 13,800 12,300 12,300
JL2507 | 55HAI 9,800 76% 9,800 9,800 9,800
JL2513 | 55HA0 9,800 76% |2 H:11,500 9,800 11,500 11,500
#LIR (B F %) F | JL2502 | 55871 9,800 76% 9,800 9,800 9,800
JL2508 | 55H Al 9,800 76% 9,800 9,800 9,800
JL2512 | 55880 12,300 70% | H:13,300 12,300 13,300 13,300
JL2514 | 55HAI 12,300 70% | H:13,300 12,300 13,300 13,300
KB (771 =12k Kk (FFH % | JL2051 | 55881 9,900 55% |£+:10,000 10,000 9,900 9,900
JL2057 | 55HAI 10,000 54% 1/T:8f1 -— —
JL2061 | 55HAI 10,900 50% 10,900 10,900 10,900
FERES JL2050 | 55HAI 10,000 54% 10,000 10,000 10,000
JL2058 | 55HAI 10,900 50% 1/ — -— -—
JL2060 | 55HAI 10,900 50% 10,900 10,900 10,900
Kb (A =4 GRE) | RBRFHFE | JL2081 | 55HH 14,800 57% |&1:16,700 16,700 14,800 14,800
JL2085 | 55HAN 12,800 63%  |1/7:&fii [— p— p—
B (IR R [ JL2086 | 558 AN 14,800 57% 1/T8fn - - —
JL2088 | 55HAI 14,800 57% | H:16,700 14,800 16,700 16,700
ABx (B#E) =448 (F&) | ABR(BAFE)F | JL2571 | 55HAT 12,800 63% 11/20,221&H1 -— -— -—
pfE(BRER) F | JL2582 | 55H T 12,800 63% |1/22,25:& il [ p— p—
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&R = ALk G %) FEEES JL3513 | 55H#T 18,500 64% |2 1:20,400 20,400 18,500 18,500
JL3515 | 55H81 16,500 68% < 1:18,400 18,400 16,500 16,500

FLIR (FHFm) % |_JL3510 | 558310 16,500 68% | H:18,400 16,500 18,400 18,400

JL3512 | 55H81 18,500 64% | H:20,400 18,500 20,400 20,400

R CHHE) =& &5 RRCHE)%E | _JL1183 | 558310 12,000 71% > £:15,500 15,500 12,000 12,000
JL1189 | 55H8T 13,200 68% 15,500 15,500 13,200 13,200

JL1191 | 55H®T 13,300 68% 15,500, H:13,700 15,500 13,700 13,700

S TS JL1180 | 55H81 14,300 65% 14,300 14,300 14,300

JL1188 | 55H®T 13,300 68% | H:16,600 13,300 16,600 16,600

JL1190 | 55H81 12,300 70% | H:16,600 12,300 16,600 16,600

RRCHE) =8I RRCHE) % | _JL1103 | 55830 12,200 69% 12,200 12,200 12,200
JL1107 | 55H81 13,100 67% |2 1:17,900 17,900 13,100 13,100

JL1113 | 55881 13,100 67% |2 1:16,900 16,900 13,100 13,100

JL1115_| 55H81 11,700 70% | 2:11,900 11,700 11,700 11,700

JENISE JL1100 | 55H#T 11,700 70% 11,700 11,700 11,700

JL1104 | 55H81 11,700 70% | H:14,200 11,700 14,200 14,200

JL1112 | 55881 11,700 70% | H:15,200 11,700 15,200 15,200

JL1116_| 55H81 13,100 67% 13,100 13,100 13,100

R CHE) =8Ik RRCHE)%E | _JL1145 | 558810 13,100 66% | = 1:17,300 17,300 13,100 13,100
JL1147 | 55H81 11,700 70% | A:12,200 11,700 12,200 12,200

JL1149 | 55H®T 11,700 70% | H:13,200 11,700 13,200 13,200

e 3 JL1144 | 55H81 11,700 70% 11,700 11,700 11,700

JL1146 | 55H®T 13,100 66% | H:17,300 13,100 17,300 17,300

JL1148 | 55H81 13,100 66% | H:17,300 13,100 17,300 17,300

RRCHE) =%k RRCHE)%E | _JL1151 | 558810 11,700 70% |2 1:17,700 17,700 11,700 11,700
JL1153 | 55H81 11,700 70% 11,700 11,700 11,700

JL1155 | 55H8T 11,700 70% 11,700 11,700 11,700

JL1157 | 55H81 13,900 64% | /12,000, H:17,700 13,900 17,700 17,700

L JL1152 | 55H8T 13,000 66% | AH:11,700, £:16,800. £:17,700 17,700 11,700 11,700

JL1154 | 55H81 11,700 70% | %:13,900 11,700 11,700 11,700

JL1156 | 55H&T 11,700 70% | %:13,900 11,700 11,700 11,700

JL1158_| 55H81 11,700 70% | %:15,.800, H:17,700 11,700 17,700 17,700

R (CHH) =&iE RRCHE)%E [ _JLi161 | 55880 12,800 50% % 1:17,300 17,300 12,800 12,800
JL1165 | 55H81 13,900 56% |2 1:16,700 16,700 13,900 13,900

JL1167 | 55H®T 12,200 61% |£:13,600. H:12,700 12,200 12,700 12,700

AR JL1162 | 55H81 14,200 55% 14,200 14,200 14,200

JL1168 | 55H®T 12,900 59% | H:17,700 12,900 17,700 17,700

JL1170_| 55H81 12,900 59% | H:17,700 12,900 17,700 17,700

RRCPHE)=8#& RECHE)% | JL1201 | 558%1 11,800 61% | 1:14,000 14,000 11,800 11,800
JL1203 | 55H81 16,000 47% | H:14,000 16,000 14,000 14,000

JL1205 | 55H#T 11,800 61% | H:12,000 11,800 12,000 12,000

JL1207 | 55H81 14,000 53% 14,000 14,000 14,000

JL1209 | 55H#T 16,000 47% |2 H:17,000 16,000 17,000 17,000

JL1211_| 55H81 11,800 61% | H:14,000 11,800 14,000 14,000

EHFE JL1200 | 55H#T 11,800 61% | 1£:13,500 13,500 11,800 11,800

JL1202 | 55H81 15,000 50% 15,000 15,000 15,000

JL1204 | 55H#T 13,500 55% 13,500 13,500 13,500

JL1206 | 55H81 11,800 61% |£:14,000 11,800 11,800 11,800

JL1208 | 55H#T 16,000 47% _ |£:17,000. F:14,000 14,000 16,000 16,000

JL1210 | 55H81 12,500 58% | H:13,000 12,500 13,000 13,000

RRCHHE) = RRCHE)%E | _JL1225 | 55850 13,500 54% |+ H:12,500 12,500 12,500 12,500
JL1227 | 55H81 13,000 56% 13,000 13,000 13,000

JL1229 | 55H®T 13,500 54% 13,500 13,500 13,500

=R% JL1222 | 55HBI 13,500 54% 13,500 13,500 13,500

JL1224 | 55H#T 13,000 56% 13,000 13,000 13,000

JL1226 | 55H8T 13,500 54% |+ H:12,500 12,500 12,500 12,500

R CRHE) =#H R CHE)% | JL1261 | 558A1 11,800 52% | H:11,500 11,800 11,500 11,500
JL1263 | 55H81 11,800 52% | H:13,200 11,800 13,200 13,200

JL1265 | 55H#T 9,800 60% 9,800 9,800 9,800

JL1267 | 55H81 11,800 52% |/ H:13,700. £:14,200, £:11,700 11,700 13,700 13,700

TREH JL1260 | 55H®M 13,700 44% |2 1:14,600 14,600 13,700 13,700

JL1264 | 55H8T 9,800 60% 9,800 9,800 9,800

JL1266 | 55HHMT 12,700 48% |2 H:13,700 12,700 13,700 13,700

JL1268 | 55H8T 11,800 52% | 2:14.600, H:12,700 11,800 12,700 12,700

R CRE) =/ 2 RECRAE)% | JL1273 | 55871 9,800 55% 9,800 9,800 9,800
JL1275 | 55H81 13,200 40% | £:14,000 14,000 13,200 13,200

JL1279 | 55H®T 10,500 52% | H:12,400 11,500 12,400 12,400

JL1281 | 55H81 10,500 52% | H:12,400 10,500 12,400 12,400

JL1283 | 55HHM 12,500 43% |£:13,100. :10,500. H:13,500 10,500 13,500 13,500

JL1285 | 55H8T 12,300 44% £ H:13,500, 1:10,500 10,500 13,500 13,500

AN B JL1270 | 55H®T 10,500 52% |£:11,600. F:11,100 11,100 10,500 10,500

JL1272 | 55H81 11,600 47% 11,600 11,600 11,600

JL1276 | 55H®T 9,800 55% 9,800 9,800 9,800

JL1278 | 55H81 11,800 46% |2 H:12,500 11,800 12,500 12,500

JL1280 | 55H®M 12,500 43% |2 H:13,500 12,500 13,500 13,500

JL1282 | 55H8T 11,800 46%  |£:13,700 11,800 11,800 11,800

B CHE) =W RRCHE)%E | _JL1681 | 558810 11,000 63% 11,000 11,000 11,000
JL1683 | 55HBT 11,900 60% 11,900 11,900 11,900

JL1685 | 55HHM 9,800 67% 9,800 9,800 9,800

JL1687 | 55H8T 9,800 67% 9,800 9,800 9,800

JL1689 | 55HHM 13,300 56% | 1£:12,800 12,800 13,300 13,300

[EIES JL1680 | 55HBI 10,900 64% 10,900 10,900 10,900

JL1682 | 55HHM 9,800 67% 9,800 9,800 9,800

JL1684 | 55HBT 9,800 67% 9,800 9,800 9,800

JL1688 | 55HHM 12,500 58% & H:12,800, 1:11,900 11,900 12,800 12,800

JL1690 | 55H®T 12,800 57% 11,900 12,800 12,800
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RR(HE)=L5 RRCHE)%E | _JL1601 | 558310 11,100 64% 11,100 11,100 11,100
JL1603 | 55H8T 14,300 54% | H:11,900 14,300 11,900 11,900

JL1605 | 55H®T 14,300 54% | H:11,900 14,300 11,900 11,900

JL1607 | 55H81 12,800 58% | H:11,100 12,800 11,100 11,100

JL1609 | 55HHT 12,800 58% | H:11,100 12,800 11,100 11,100

JL1611_| 55H81 11,100 64% | £:13,800, H:12,800 11,100 12,800 12,800

JL1613 | 55H®T 12,800 58% | % H:13,800 12,800 13,800 13,800

JL1615 | 55H8T 12,800 58% | < H:13,800 12,800 13,800 13,800

LE% JL1600 | 55H®T 11,400 63% 11,400 11,400 11,400

JL1602 | 55H81 12,800 58% | H:11,400 12,800 11,400 11,400

JL1604 | 55HAT 11,800 62% 11,800 11,800 11,800

JL1606 | 55H8T 11,100 64% | £:13,300, X:11,800 11,800 11,100 11,100

JL1608 | 55H®T 11,800 62% | % H:13,800 11,800 13,800 13,800

JL1610_| 55H8T 11,900 61% |2 H:13,800, 1:12,800 12,800 13,800 13,800

JL1612 | 55H®T 13,800 55% |%:14,700, £:11,900 11,900 13,800 13,800

JL1614 | 55H8T 13,800 55%  |%:14,700, 1:11,900 11,900 13,800 13,800

R CHE) =ILOFE RRCHE)%E | _JL1643 | 558810 10,700 69% 10,700 10,700 10,700
JL1645 | 55H8T 14,800 57% % 1:15,800. H:12,900 15,800 12,900 12,900

JL1647 | 55H®T 9,800 72% 9,800 9,800 9,800

JL1649 | 55H8T 9,800 72% 9,800 9,800 9,800

I=ESETE JL1640 | 55H®T 9,800 72% 9,800 9,800 9,800

JL1642 | 55H8T 9,800 72% 9,800 9,800 9,800

JL1644 | 55HHT 12,900 63% 12,900 12,900 12,900

JL1648 | 55H8T 14,800 57% % H:15,800. +:12,600 12,600 15,800 15,800

RR(HE) =HE RRCHE)%E | _JL1663 | 558810 10,700 66% 10,700 10,700 10,700
JL1665 | 55H8T 13,900 56% 13,900 13,900 13,900

JL3961 | 55H®T 13,500 57% 13,500 13,500 13,500

JL1667 | 55H8T 12,500 60% 12,500 12,500 12,500

JL1669 | 55HHT 12,500 60% 12,500 12,500 12,500

JL1671_| 55H81 15,400 51% |2 H:17,300 15,400 17,300 17,300

HEH JL1662 | 55H®T 11,700 63% 11,700 11,700 11,700

JL1664 | 55HAT 14,300 54% |2 1:16,200 16,200 14,300 14,300

JL1666 | 55HAT 12,600 60% |2:15,300, +:14,600, H:15,100 14,600 15,100 15,100

JL3962 | 55HBT 13,600 57% % H:15,300. :14,600 14,600 15,300 15,300

JL1668 | 55H®T 14,200 55% |&H:15,200 14,200 15,200 15,200

JL1672 | 55H8T 13,300 58% | % H:14,300 13,300 13,800 13,800

RRECPHE) =18 RECHE)% | JL1431 | 558%)1 9,000 69% 9,000 9,000 9,000
JL1433 | 55H8T 9,000 69% 9,000 9,000 9,000

JL1435 | 55H#T 9,000 69% 9,000 9,000 9,000

JL1437 | 55H81 8,700 71% 8,700 8,700 8,700

JL1439 | 55H#T 8,700 71% 8,700 8,700 8,700

JL1443 | 55H8T 9,000 69% 9,000 9,000 9,000

TS JL1430 | 55H# 9,000 69% 9,000 9,000 9,000

JL1432 | 55H81 9,000 69% 9,000 9,000 9,000

JL1434 | 5581 8,700 71% 8,700 8,700 8,700

JL1436 | 55H81 8,700 71% 8,700 8,700 8,700

JL1440 | 55HHT 9,000 69% 9,000 9,000 9,000

JL1442 | 55H8T 9,000 69% 9,000 9,000 9,000

RRECRHE) =5# R CAE)$% | JL1403 | 55871 11,400 61% 11,400 11,400 11,400
JL1405 | 55H81 13,000 56% 13,000 13,000 13,000

JL1407 | 55H®1 9,800 67% 9,800 9,800 9,800

JL1409 | 55H8T 9,800 67% 9,800 9,800 9,800

JL1411 | 55881 12,500 58% |% H:13,500, £:11,900 11,900 13,500 13,500

JL1415 | 55H81 14,400 51% |% H:15,400, 1:13,800 13,800 15,400 15,400

i JL1402 | 55H® 12,500 58% x+:13,500, H:11,300 13,500 11,300 11,300

JL1404 | 55H8T 13,000 56% |2 1:14,000, H:12,300 14,000 12,300 12,300

JL1406 | 55HHT 9,800 67% 9,800 9,800 9,800

JL1408 | 55H8T 12,500 58% | H:14,600 12,500 14,600 14,600

JL1410 | 55HH1 14,600 51% % H:14,900 14,600 14,900 14,900

JL1414_| 55H81 14,600 51% |%:15,600, H:14,900 14,600 14,900 14,900

RRECRHE) =541 RECRE)$% | JL1483 | 55871 9,800 69% 9,800 9,800 9,800
JL1487 | 55H81 11,400 64% | £:13,300, T:14,300 14,300 11,400 11,400

JL1489 | 55HHM 11,400 64% 11,400 11,400 11,400

JL1491 | 55H81 9,800 69% 9,800 9,800 9,800

JL1493 | 55HH 11,400 64% |2 H:14,300 11,400 14,300 14,300

EEIES JL1482 | 550 9,800 69% 9,800 9,800 9,800

JL1484 | 55HHT 11,400 64% |2 1:12,400 12,400 11,400 11,400

JL1486 | 55H8T 9,800 69% 9,800 9,800 9,800

JL1490 | 558 11,400 64% |2:15,200, H:14,700 11,400 13,700 14,700

JL1492 | 55H8T 11,400 64% |£:15.200. H:14,700 11,400 13,700 14,700

B CRHE) =t RRCHE)%E | _JL1461 | 558810 11,400 64% |2 1:12,400 12,400 11,400 11,400
JL1463 | 55H8T 13,300 58% 13,300 13,300 13,300

JL1465 | 55HHT 12,400 61% 12,400 12,400 12,400

JL1467 | 55H8T 11,400 64% |2 H:12.400 11,400 12,400 12,400

JL1469 | 55HHT 9,800 69% 9,800 9,800 9,800

JL1471_| 55H81 14,300 55% |2 H:16,200 14,300 16,200 16,200

PATIES JL1460 | 55HHT 14,300 55% | H:12,400 14,300 12,400 12,400

JL1464 | 55H8T 9,800 69% 9,800 9,800 9,800

JL1466 | 55HHT 12,400 61% | H:13,300 12,400 13,300 13,300

JL1468 | 55H8T 12,400 61% |2 H:13,300 12,400 13,300 13,300

JL1472 | 5581 13,300 58% |%:13,800, H:14,700 13,300 14,700 14,700

JL1476 | 55H81 12,300 61% |£:14,700. H:14,300 12,300 14,300 14,300
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R CRE) =4t RECAE)$ [ JL371 55 H &l 9,700 74% & 1:11,800 11,800 10,700 10,700
JL373 | 55HAI 10,800 71% |& 1 H:11,800 11,800 11,800 11,800
JL375 | 55HAI 10,800 71% _ |2£+ R:11,800 11,800 11,800 11,800
JL377 | 55HAI 10,800 71% &1 H:11,800 11,800 12,800 15,300
JL379 | 55HAI 10,800 71% &1 H:11,800 11,800 11,800 11,800
JEIu JL370 55 H #il 10,800 71% &1+ H:11,800 11,800 11,800 11,800
JL372 | 55HAI 10,800 71% _|= 1 A:11,800 13,800 11,800 11,800
JL374 | 55HAI 10,800 71% |1 H:11,800 11,800 11,800 11,800
JL376 | 55HAI 10,800 71% &1 H:11,800 11,800 11,800 11,800
JL378 | 55HAI 10,800 71% |1 H:11,800 11,800 11,800 12,100
RRECRE) =X% RRCHE) % | _JL1783 | 558310 12,000 66% |2:14,300, F:12,800 12,800 12,000 12,000
JL1785 | 55HBAI 13,500 62% |2 +:14,300. H:12,800 14,300 12,800 12,800
JL1787 | 55HAI 9,800 72% | £ H:10,800 9,800 10,800 10,800
JL1789 | 55HBAI 12,800 64% 12,800 12,800 12,800
JL1791 | 55HAI 14,700 59% | +:12,800 12,800 14,700 14,700
JL1795 | 55HBAI 14,700 59% | +:12,800 12,800 14,700 14,700
Ro% JL1782 | 55H®T 9,800 72% 9,800 9,800 9,800
JL1784 | 55HAI 14,700 59% | H:13,800 14,700 13,800 13,800
JL1786 | 55HAI 9,800 72% | H:13,800 9,800 13,800 13,800
JL1790 | 55HAI 14,700 59% | +:14,300 14,300 14,700 14,700
JL1792 | 55HAI 14,700 59% |£:15,200, 1:14,300 14,300 14,700 14,700
JL1794 | 55HBAI 14,700 59% | +:13,800 13,800 14,700 14,700
RRECPHE) =FKIG RRCHE)%E | _JL1841 | 558810 14,700 62% = 15,200 14,700 14,700
JL1843 | 55HAI 10,800 72% | &t:14, 14,200 10,800 10,800
JL1845 | 55HAI 9,800 75% | &1:13,700 15,700 9,800 9,800
JL1847 | 55HAI 12,000 69% |2:15700, F:13,300, H:15,200 13,300 15,200 15,200
JL1849 | 55HAI 12,000 69% | H:15,700, 1:13,300 13,300 15,700 15,700
JL1857 | 55HAI 12,000 69% | %:15,700, 1:13,000. H:14,300 13,000 14,300 14,300
RIBH JL1840 | 55H®T 13,000 67% | %:14,300 13,000 13,000 13,000
JL1842 | 55HAI 13,000 67% |%:13,500 13,000 13,000 13,000
JL1844 | 55HAI 10,800 72%  |£:12,000, H:14,200 10,800 14,200 14,200
JL1850 | 55HAI 15,200 61% |2 H:15,700 15,200 15,700 15,700
JL1852 | 55HAI 15,200 61% |2 H:15,700 15,200 15,700 15,700
JL1854 | 55HAI 12,000 69% | & H:15,700 12,000 15,700 15,700
RRECPHE) =X R CHE)% | JL1801 | 5587 9,800 73% 9,800 9,800 9,800
JL1803_| 55HAI 9,800 73% | £1:10,800 10,800 10,800 10,800
JL1805 | 55HAI 14,300 61% 14,300 14,300 14,300
JL1807 | 55HAI 12,000 67% | 2:13,800 12,000 12,000 12,000
JL1809 | 55HAI 12,000 67% |2:13,800 12,000 12,000 12,000
JL1811_| 55HAI 10,800 71% | £ H:14,300 10,800 14,300 14,300
JL1813 | 55HAI 12,000 67% |2 H:14,700 12,000 14,700 14,700
JL1815_| 55HAI 12,000 67% |2 H:14,700 12,000 14,700 14,700
REARFE JL1802 | 55H®T 13,300 64% | H:12,000 13,300 12,000 12,000
JL1804 | 55HAI 13,800 62% | H:12,000 13,800 12,000 12,000
JL1808 | 55HAI 9,800 73%  |£:12,400, £:12,000 12,000 9,800 9,800
JL1810 | 55HAI 12,000 67% |%:12,400, H:13,300 12,000 13,300 13,300
JL1812 | 55HAI 13,800 62% 13,800 13,800 13,800
JL1814 | 55HAI 14,300 61% 14,300 14,300 14,300
JL1816 | 55HAI 14,300 61% |%:14,700 14,300 14,300 14,300
JL1818 | 55HAI 9,800 73%  |%:14,700, H:13,300 9,800 13,300 13,300
RRECRHE) =5I% RRCHE) % | _JL1883 | 558310 12,000 67% |2 1:14,300 14,300 12,000 12,000
JL1885 | 55HAI 14,000 62% | A:14,700, & 1:15,200 15,200 14,000 14,000
JL1887 | 55HAI 9,800 73% & 1:11,800 11,800 10,800 10,800
JL1889 | 55HAI 12,000 67% |2:14,200, 1:14,300, H:12,700 14,300 12,700 12,700
JL1891 | 55HAI 9,800 73%  |£:14,200, H:14,700 9,800 14,700 14,700
JL1893 | 55HAI 12,000 67% |2:16,200, H:14,700 12,000 14,700 14,700
EHEES JL1880 | 55H®T 9,800 73%  |£+:14,200 14,200 9,800 9,800
JL1884 | 55HAI 14,300 61% 14,300 14,300 14,300
JL1886 | 55HAI 14,700 60% | H:15,200 14,700 15,200 15,200
JL1890 | 55HAI 9,800 73% | £ H:11,800 9,800 11,800 11,800
JL1892 | 55HAI 15,200 59% | H:16,200, 1:14,300 14,300 15,200 15,200
JL1896 | 55HAI 15,200 59% | +:14,300 14,300 15,200 15,200
RECHH)=ER RECHE)% | JL1861 | 5587l 9,800 75% 12,000 9,800 9,800
JL1863 | 55HAI 15,200 61% |4 14, 16,000 14,100 14,100
JL1865 | 55HAI 15,200 61% |2 1:16,000, H:14,100 16,000 14,100 14,100
JL1867 | 55HAI 12,000 69% | A:13,800, £ 1:15,200, H:14,300 15,200 14,300 14,300
JL1871 | 55HAI 12,000 69% | +:13,000, H:14,300 13,000 14,300 14,300
JL1873 | 55HAI 9,800 75% | H:14,500 9,800 14,500 14,500
JL1875 | 55HAI 14,000 64% | H:14,500, 1:13,300 13,300 14,500 14,500
JL1879 | 55HAI 14,000 64% |2 H:14,500, 1:13,300 13,300 14,500 14,500
EREH JL1864 | 55HAT 9,800 75% 12,000 9,800 9,800
JL1866 | 55HAI 12,000 69% |2 ] . 13,500 12,400 12,400
JL1868 | 55HAI 12,000 69% |&1:13,500, H:12,400 13,500 12,400 12,400
JL1870 | 55HAI 12,000 69% | %:13,800, H:14,400 12,000 14,400 14,400
JL1872 | 55HAI 13,800 65% | %:14,700, H:14,400 13,800 14,400 14,400
JL1874 | 55HAI 14,300 63% |2 H:15,200, :14,100 14,100 15,200 15,200
JL1876 | 55HAI 14,100 64% |2 H:14,700. 1:13,300 13,300 14,700 14,700
JL1878 | 55HAI 9,800 75%  |%:14,100, H:13,300 9,800 13,300 13,300
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RECHH)=8E%XE B CHE)% | JL1955 | 558 A0 14,800 68% | % 1:18,000 21,000 19,000 19,000
TEAEH JL1956 | 55HBI 14,800 68% | H H:18,000 19,000 21,000 21,000
EEGT: D EPNIAC D) R (FRE)% [ JL3005 | 55871 10,500 53% 10,500 10,500 10,500
JL3007 | 55HAI 10,500 53% 10,500 10,500 10,500
ABR (A% | _JL3002 | 558310 10,500 53% 10,500 10,500 10,500
JL3006 | 55HAI 10,500 53% 10,500 10,500 10,500
R (BHE) =% FFm) | BREE)FE | JL3041 | 55HE0 14,800 56% |4 1:18,000, H:12,100 18,000 12,100 12,100
JL3045 | 55HAI 13,900 59% | A:14,900, £:17,300, 1:12,400, H:13,400 12,400 13,400 13,400
JL3049 | 55HAI 12,900 61%  |7:13,900, £:16,400, +:11,700, H:12,400 11,700 12,400 12,400
FLOR (FrF %) F [_JL3040 | 55HRI 14,800 56% | H:11,900 14,800 11,900 11,900
JL3042 | 55HAI 12,900 61% |2:14,800, H:17,600 12,900 17,600 17,600
JL3048 | 55HAI 12,900 61% |%:14,800, H:17,600 12,900 17,600 17,600
RR(FE) =252 (PE) | ER(EE)FE [ JL3083 | 55HEI 11,000 39% 11,000 11,000 11,000
JL3085 | 55HAI 9,500 48% 9,500 9,500 9,500

JL3087 | 55HAI 9,500 48% 9,500 9,500 9,500

ZHE(hEp) % | JL3082 | 55HAN 9,500 48% 9,500 9,500 9,500

JL3084 | 55HAI 9,500 48% 9,500 9,500 9,500
JL3086 | 55HAI 11,000 39% 11,000 11,000 11,000
ESAGT L Rm(EE) % | _JL3051 | 558810 16,200 56% | +:15,300, H:12,600 15,300 12,600 12,600
JL3053 | 55HAI 11,800 68% |%:13,700, H:14,300 11,800 14,300 14,300
JL3057 | 55HAI 11,800 68% | /:14,300, £:18,100, H:15,200 11,800 15,200 15,200
FERES JL3052 | 55HAI 11,800 68% :12,300 12,300 11,800 11,800
JL3054 | 55HAI 11,800 68% 13,300, H:14,300 13,300 14,300 14,300
JL3056 | 55HAI 11,800 68% | 1t:13,300, H:14,300 13,300 14,300 14,300
RIR (R H) =ih#E (BRER) B (FkE) % | JL3095 | 558Am 13,700 66%  |%:15,000 13,700 13,700 13,700
h#E (FRE) % | JL3098 | 55HAT 14,500 64% 14,500 14,500 14,500
Kb (51 =#E ABR(FFH % [ _JL2171 | 558310 10,700 68% 10,700 10,700 10,700
JL2173 | 55HAI 10,700 68% 10,700 10,700 10,700
JL2179 | 55HAI 10,700 68% 10,700 10,700 10,700
TEF JL2172 | 55HEL 10,700 68% 10,700 10,700 10,700
JL2174 | 55B8I 10,700 68% 10,700 10,700 10,700
JL2178 | 55HAI 10,700 68% 10,700 10,700 10,700
K () =1l& KB (FFH % | _JL2201 | 558310 10,700 65% 12,600, H:10,800 12,600 10,800 10,800
JL2203 | 55HAI 11,700 62% 12,700, H:11,800 12,700 11,800 11,800
JL2205 | 55HAI 10,800 65% 12,700, H:13,200 12,700 13,200 13,200
JL2209 | 55HAI 10,800 65% | @ 1t:12,700, H:13,200 12,700 13,200 13,200
JL2213 | 55HAI 10,700 65% |2:13,400, F:11,500, H:14,600 11,500 14,600 14,600
JL2219 | 55HBAI 14,700 52% | %:16,600, 1:13,700. H:15,600 13,700 15,600 15,600
& F JL2200 | 55HAT 14,700 52% 14,700 14,700 14,700
JL2204 | 55HAI 15,200 51% 15,200 15,200 15,200
JL2206 | 55HAI 12,700 59% |£:14,600, 1:13,700. H:15,100 13,700 15,100 15,100
JL2208 | 55HAI 13,200 57% |%:15,600, 1:13,700. H:15,100 13,700 15,100 15,100
JL2210 | 55HAI 13,200 57% |%:16,600, H:15,600 13,200 15,600 15,600
JL2216 | 55HAI 12,700 59% |2:15,200, H:14,200 12,700 14,200 14,200
K (75 =%#i8 KB (FFH % | _JL2241 | 558310 12,800 56% | +:13,300 13,300 12,800 12,800
JL2243 | 55HBEI 12,800 56% |2 H:13,700, 1:12,600 12,600 13,700 13,700
JL2251 | 55HA0 14,300 51% |%:14,700, H:15,700 14,300 15,700 15,700
FTPEES JL2240 | 55HAI 15,200 48% 15,200 15,200 15,200
JL2244 | 55HAI 12,800 56% | %:13,700 12,800 12,800 12,800
JL2250 | 55HAI 13,300 54% | %:14,700, 1:12,400, H:15,700 12,400 15,700 15,700
K () =K% KB (FFH % | _JL2361 | 558310 12,400 36% |2 +:12,800. H:11,900 12,800 11,900 11,900
JL2367 | 55HAI 11,900 38% |£:12,800, H:13,200 11,900 13,200 13,200
PN JL2362 | 55H®T 11,900 38% |2 H:12,800, 1:12,400 12,400 12,800 12,800
JL2368 | 55HBI 12,800 34% |2 H:13,200, £:11,900 11,900 13,200 13,200
K (75 =RiG KPR (FFH % [ _JL2371 | 558310 13,000 49% | 1:14,000 14,000 13,000 13,000
JL2375 | 55HBAI 11,100 57% |2:12,700, X H:11,800 11,800 11,800 11,800
JL2377 | 55HAI 12,300 52% | H:13,500 12,300 13,500 13,500
RIGH JL2372 | 55HAI 11,100 57% |& 1t H:11,800 11,800 11,800 11,800
JL2374 | 55HAI 11,100 57% |1 H:11,800 11,800 11,800 11,800
JL2378 | 55HBAI 11,300 56% |%:12,300, H:12,600 11,300 12,600 12,600
KB (5} =RER KB (FFFH % | _JL2383 | 558310 10,000 57% & +:11,400 11,400 10,000 10,000
JL2385 | 55HAI 10,900 54% |&1:12,400, H:11,900 12,400 11,900 11,900
JL2389 | 55HAI 11,900 49% | A% H:12,400, F:11,400 11,400 12,400 12,400
BEAH JL2382 | 55HBT 10,500 55% | +:11,900 11,900 10,500 10,500
JL2386 | 55HAI 11,900 49% |2 H:12,400 11,900 12,400 12,400
JL2392 | 55HAI 11,900 49% |2 H:12,600 11,900 12,600 12,600
K () ==& ABR (D% | _JL2431 | 558810 10,900 54% | +:12,400 12,400 10,900 10,900
JL2433 | 55HAI 13,800 41% |2 £:15200 15,200 13,800 13,800
JL2435 | 55HAI0 12,800 46% |2 H:15,200 12,800 15,200 15,200

JL2437 | 55HBAI 12,800 46% _ |1/73EM — -— -—
JL2441 | 55880 12,800 46% | 2:15,200, H:14,700 12,800 14,700 14,700
JL2443 | 55HE0 12,800 46% | 2£:15,200, H:14,700 12,800 14,700 14,700
EEES JL2430 | 55H#T 12,400 47% | 1:14,300 14,300 12,400 12,400
JL2432 | 55HBEI 12,400 47% | £:12,800, 1:13,800, H:14,300 13,800 14,300 14,300
JL2434 | 55HAI 13,600 42% | %:14,200, H:14,500 13,600 14,500 14,500
JL2436 | 55HAI 13,600 42% | £:14,200, H:14,500 13,600 14,500 14,500

JL2438 | 55HAI 14,100 40% _ |1/7EM — — —
JL2442 | 55HBEI 14,100 40% |2 H:15,000 14,100 15,000 15,000
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[R—N\—%BEEXAA7B~31BEED) AL
EEERE 2012/10/30
" 1/7-11. 1/15-31 1/12 1/13 1/14
%n‘ N
o BE \magm| wmm  EEY % EEE | EEE | SR
KR (R =R KR (FFH % | _JL3913 | 55HBI 11,400 57% 1/7Efi j— p— p—
JL3915 | 55H81 11,400 57% |1/T:8H1 -— -— -—
BEREH JL3914 | 5581 9,800 63% _|1/7:&ff p— p— —
JL3916 | 55H8T 10,000 63% | 1/73&M -— -— -—
KR () =&EEXS ABR (A% | _JL2465 | 558310 15,000 59% 15,000 15,000 15,000
JL2467 | 55H8T 15,000 50% |1/7:8#1 -— -— -—
TEERER JL2464 | 55HAT 15,000 59% 15,000 15,000 15,000
JL2466 | 55HBT 15,000 59% B -— -— -—
2 E () =4LIR (B Fm)| & &2 (hEp) % | JL3103 | 558510 12,000 68% F:16,000 16,000 12,000 12,000
JL3105 | 55H8T 12,000 68% 14,800 14,800 12,000 12,000
JL3111_| 55H8T 11,000 71% 13,000, H:14,000 13,000 14,000 14,000
JL3115 | 55H81 9,700 74% | £1:10,800. H:12,800 10,800 12,800 12,800
JL3117 | 55881 9,700 74% | £1:10,800. B:12,800 10,800 12,800 12,800
AR (FrF %) F [_JL3100 | 55HBI 9,700 74% 9,700 10,700 10,700
JL3106 | 55H®T 9,700 74% 9,700 9,700 9,700
JL3110_| 55H81 11,000 71% | HA:12,000 11,000 12,000 12,000
JL3114 | 55H8T 12,000 68% | H:14,300 12,000 14,300 14,300
JL3118_| 55H81 12,000 68% | H:16,500 12,000 16,500 16,500
ARG Fm) =%imal | ALIRGrF=) | JL2713 | 55871 10,600 50% 10,600 10,600 10,600
JL2717_| 55H81 10,600 50% 10,600 10,600 10,600
JL2719 | 55H®T 10,600 50% 10,600 10,600 10,600
s TS JL2712 | 55H81 11,100 48% 11,100 11,100 11,100
JL2716 | 55H®T 10,600 50% 10,600 10,600 10,600
JL2718 | 55H8T 11,600 46% 11,600 11,600 11,600
Fim=#LIR G F =) imF JL2871 | 55HAI 15,200 48%  [%£:18,000, 1:16,500, H:14,200 16,500 14,200 14,200
JL2875 | 55H8T 13,200 55% 13,200 13,200 13,200
LR FHFm) | _JL2872 | 55881 13,200 55% 13,200 13,200 13,200
JL2876 | 55HBT 14,600 51% | H:16,500 14,600 16,500 16,500
& =#L1R G F %) e 3 JL2901 | 55H®T 16,700 41% F:16,900 16,900 16,700 16,700
JL2903 | 55H8T 11,400 60% 13,300, H:11,900 13,300 11,900 11,900
JL2905 | 55H®T 11,400 60% > +:13,300, H:11,900 13,300 11,900 11,900
JL2907 | 55H8T 13,900 51% |2:16,700, H:14,800 13,900 14,800 14,800
JL2909 | 55H®T 13,300 53% |%:16,200. H:14,300 13,300 14,300 14,300
FLOR (B F %) F [ JL2900 | 55HBI 13,300 53% | £:15,200 15,200 13,300 13,300
JL2902 | 55H®T 13,300 53% |%:14,300, £:15,700 15,700 13,300 13,300
JL2904 | 55HBT 12,700 55% |< H:13,800. £:15,700 15,700 13,800 13,800
JL2906 | 55HT 14,300 50% | 1:16,200. H:17,700 16,200 17,700 17,700
JL2910 | 55H81 16,700 41% _ |£:17,000, :14,300, H:18,100 14,300 18,100 18,100
LS =g FHFR) LE% JL3403 | 55H#T 13,700 70% 13,700 13,700 13,700
FLIE (I F ) F | JL3406 | 55HAI 13,200 71% 13,200 13,200 13,200
BRE=1t% FERES JL3523 | 55H®FT | 20,900 54% 20,900 20,900 20,900
TEE 3 JL3526 | 55H#I | 20,900 54% 20,900 20,900 20,900
BE=IE FERES JL3535 | 55H®T 19,900 54% 19,900 19,900 19,900
JL3537 | 55H#I | 20,300 53% 20,300 20,300 20,300
e 3 JL3530 | 55H&T | 20,300 53% | H:19,900 20,300 19,900 19,900
JL3534 | 55HET 19,900 54% 19,900 19,900 19,900
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1/8-11, 1/15-31
Br BE =g A % ‘e w EZ7] S

i) ks b u w7 i w7 i « Wi

mAmE TEE | g5 %5 |mamm TEF g B maiE  FE |gamp TEE goim
HR CRE) =48 (GRE) [ h48 (FR&H) F[_NU%04 | BIH | 35800 BIH | 26,800 4% | £+ H:30,200 39% |%+ H:28,200 f— pu— p—
uo78 H1H | 35800 BIE | 35100 4% 7 p— p— p—
KR (BAEE) =48 (B E) | KIR (BT F[_NU273 HAT_| 30000 B | 28700 6% 7 p— p— p—
U277 BET_| 30,000 Bi_| 28700 6% 7 p— p— p—
U279 B&T_| 30,000 Bi_| 28700 6% 7 p— p— pu—
B GIRER) F[_NU270 BAT_| 30000 Bi_| 28700 6% 7 p— p— p—
U274 BET_| 30,000 Bi_| 28700 6% 7 p— p— p—
U084 B&1_| 30,000 Bi_| 28700 6% 7 p— p— pu—
U280 B&T_| 30,000 B | 28,700 6% 7 p— pu— p—
faff =g (IR EEES U051 B8l 00 | 15 Bl 00 [ 19% — — | —
|_NU053 B AT 00 5% B 00 9% p— p— p—
U057 B AT 00 5% Bl 00 9% p— pu— p—
U061 B AT 00 5% B 00 9% p— p— p—
U063 B AT 00 5% B 00 9% p— pu— p—
U065 B AT 00 5% B 00 9% p— p— p—
i (ARE) FE[__NU050 =k 00 5% Bl 00 9% p— pu— pu—
|_NU052 =Kl 00 5% B 00 9% p— pu— p—
U054 B AT 00 5% B 00 9% p— pu— p—
|_NU056 B AT 00 5% B 00 9% p— pu— pu—
|_NU060 B AT 00 5% B 00 9% p— p— p—
U062 B AT 00 5% B 00 9% p— pu— p—
RRECPAE)=FRIE [RRCAR)F[ N BAl | 48200 9% B_| 38,300 | 35% 9 — — —
| u BET | 48200 9% B_| 38,300 | 35% 39% — — —
EH u BAT_| 48200 9% B_| 38,300 | 35% 39% — pu— p—
RR(HE)=8d [RR(HE) % NU L 500 | 20% B1_| 38,000 35% —— — | —
I U =K 500 | 20% Bi_| 38,000 35% p— p— p—
KR (BA) =FiE [XMk (%) 5[ NU BAT_| 41400 4 Bi1_| 38,100 0 — — —
RIEFE U BH#l_| 41,400 4 B | 38,100 0 p— pu— pu—
AN = 3R (IRER) AR u B &l 900 | 14 B1_| 31,000 —— — | —
b8 (FRER) | NU S .900 4 Bi_| 31,000 p— p— p—
BEE () =48 () |8 HE (FED) R B AT 400 6 Bi_| 30,800 0 — — —
BBl 400 6% B[ 30,800 0 p— pu— pu—
kil 400 6% B[ 30,800 0 p— pu— pu—
B Bl 400 6% B[ 30,800 0 p— pu— pu—
SR (IR [ BT 400 6% Bi_| 30,800 0 — — —
B AT 400 6% Bi_| 30,800 0 — pu— p—
B AT 400 6% Bi_| 30,800 0 — pu— p—
I—— B Bl 400 6% B[ 30,800 0 p— pu— pu—
e Ll =48 (AR E) G Sk 0,000 2% Bl 7,000 1 0 p— p— p—
B (GRS R =k 0,000 2% Bl 7,000 1 0 p— p— p—
SRR GIRER) =F1E | GRE) FE[_N BB 600 9% Bl 7,000 [ 26 29 — — —
|_NU6O: B AT ,600 9% 1/738f B | 17,000 [ 26% [1/7:8f1 20% | 1/7.38#f — — —
|_NU6O! B AT 00 9% B | 17,000 | 26% 29% — — —
|_NU6O! B AT ,600 9% B | 17,000 | 26% 29% — — —
u B & ,600 9% [1/738f7 Bl 7,000 | 26% |1/7.38ff 29% [1/758ff — — —
u B AT ,600 9% [1/7.38fk B | 17,000 [ 26% [1/7:8tk 29% [1/7.38¢k — — —
U B AT 00 9% B | 17,000 | 26% 29% — — —
RAC705 | 3H [ 19% koK% H &R B[ 17,000 [ 26% [XKJk.2.B.Ef 29% [ROKE B IBf — — —
|_NU621 B AT 00 9% B | 17,000 | 26% 29% — — —
U625 B AT 00 9% B | 17,000 | 26% 29% — — —
RIEH | _NU600 =K1 00 9% Bl 7,000 | 26% 29% — — —
|_NU604 B AT 00 9% B | 17,000 | 26% 29% — — —
| NU6O =Kl 00 9% B | 17,000 | 26% 29% — — —
| NU6O: B AT 00 9% B | 17,000 | 26% 29% — — —
B Al 00 9% 1/738 B | 17,000 [ 26% [1/7:8f1 20% | 1/7.38#1 — — —
B AT 00 9% B | 17,000 | 26% 29% — — —
B AT 00 9% B | 17,000 | 26% 29% — — —
B AT 00 9% B | 17,000 | 26% 29% — — —
B &l 00 9% [1/7.38f Bl 7,000 | 26% 1/7:Efif 29% [1/7:Efi — p— p—
Bl 00 9% [1/738¢k B | 17,000 [ 26% [1/7:8tk 20% |1/7.384K — — —
B AT ,600 9% B | 17,000 | 26% 29% — — —
BT [ 18600 [ 19% [XKJK.£ HiEf B[ 17,000 [ 26% [XKJk.2. B .Ef 29% [ROKE BHIBf — — —
=Kl ,600 9% B | 17,000 | 26% 29% — — —
PREBB) ==h PGB R = 400 8% Bl 4,300 8% BIH 00 | 25% H &l 00 | 28%
R | Bl 400 8% il 4,300 8% B8 00 [ 25% B a1 00 | 28%
| Bl 400 8% il 4,300 8% 318 00 [ 25% B a1 00 | 28%
[ N | Bl 400 8% il 4,300 8% 318 00 [ 25% B a1 00 | 28%
| NUS65 | & ,400 8% i 4,300 8% B8 00 [ 25% B a1 00 | 28%

| NUS67 | &1 ,400 8% [1/7.381% Bl 4,300 8% |1/7.381K BB 00 | 25% [1/7:8fk B a1 00 | 28% [1/7:8fk

| NUS69 | & 400 8% | 1/738ff Bl 4,300 8% |1/7.58f1 318 00 | 25% [1/7:8ff B a1 00 | 28% [1/7:8ff
U571 400 8% Bl 4,300 8% B8 00 [ 25% B a1 00 | 28%
U573 ,400 8% il 4,300 8% B8 00 [ 25% B a1 00 | 28%
BEHHE [ _NU552 | Al 400 8% Bl 4,300 8% BIH 00 | 25% B &l 00 | 28%
| NUS56 | &1 ,400 8% [l 4,300 8% B8 00 [ 25% B a1 00 | 28%
| NUS58 | & ,400 8% [l 4,300 8% B8 00 [ 25% B a1 00 | 28%
| NUS62 | & ,400 8% il 4,300 8% B8 00 [ 25% =E] 00 | 28%
| NUS64 | & ,400 8% Bl 4,300 8% B8 00 [ 25% B a1 00 | 28%

| NUS66 | &1 ,400 8% | 1/7581K Bl 4,300 8% |1/7.81K BB 00 | 25% [1/7:8fk B a1 00 | 28% [1/7:8fk

U570 ,400 8% | 1/738ff Bl 4,300 8% |1/7.38f 318 00 | 25% [1/738ff B a1 00 | 28% [1/7:8ff
U572 400 8% Bl 4,300 8% 318 00 [ 25% B a1 00 | 28%
RAC804 | &1 400 8% Bl 4,300 8% B8 00 | 25% ki 00 | 28%
BEh=A1E EEE RAC! 00 8% [1/7:Efi Bl 600 | 19% [1/73&fi =] 400 1/7.38f — — —
RAC! 00 8% 1/7:9,000 600 | 19% |1/7:8000 318 400 1/7:1500 — — -
RAC! 00 8% 600 9% 1] 400 — — —
RIEFE | RAC832 | 00 8% |1/7:Efi 600 [ 19% [1/7:&ff = 400 1/738f — — —
RAC834 00 4% 000 3% 1] 500 — — —
RAC838 00 8% B 600 9% 1] 400 1 — — —
PR (AR =AKE |ih#E (FRER) F| RACST 00 9% Bl 000 §iE 600 7 p— p— p—
RAC87 00 9% B ,000 7B 600 7 p— pu— pu—
RAC87 00 9% Bl ,000 1] ,600 7 — p— pu—
RAC87 00 9% 1/7.38 B ,000 1/7.58# 318 ,600 7% |1/7.58#1 — — —
RAC87 00 9% B ,000 7B 600 7 p— p— p—
| RAC881 | 00 9% il ,000 1] ,600 7 — p— p—
RAC88. 00 9% |1/738H%k B ,000 1/7.84% BB ,600 7% 1/738 0k — p— pu—
AXkBHF | RACST 00 9% Bl ,000 7B 00 7 p— p— p—
RAC874 00 9% Bl ,000 7B 600 7 p— pu— p—
RAC87 00 9% Bl ,000 7B 600 7 p— pu— p—
RAC87 00 9% 1/7.38 Bl ,000 /7584 318 ,600 7% |1/7.58#1 — — —
RAC870 00 B ,000 7B 600 7 p— pu— p—
| RAC882 00 i ,000 #iE 600 7 p— pu— p—
RAC884 00 1/7381K B ,000 1/7584K 318 ,600 7% |1/7.84K — p— p—
PR (RER) =5 ME i RF) F| RACT21 18,950 | 40% |1/7.38{k Bl 18,850 /7384 B8 18,750 1% 1/7584k p— pu— pu—
E% [ RACT24 18,950 | 40% | 1/738B{k B1E | 18850 | 41% [1/758{K BB | 18750 | 41% [1/758{K — — —
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1/7-11. 1/15-31 /12 1/13 /14
447°A 4478 47°A | 5478 | 547A | 547B | 547A | 547B
R I 2 — 1 T mr  REH e | e | men | e | mee  me
o AHAIE EEEE TS #"%E o AHAIE EEE TS #"%E EEE | EE EEEE | EEE | EEE | E8
HR CRE) =48 GRE) [ % GE) %[_NU9o4 EAT | 16,200 [ 60% BAT | 14500 4 6,200 | 14,500 200 | 14,500 200 | 14,500
uo7 BAT | 17,300 | 58% |H:21,300 B Al 00 0% | H:20,500 7,300 00 300 | 20,500 300 [ 20,500 |
KB (B378) = 48 (FR%R) | KR (B8T) %[ _NU27 B AT 000 | 56% | +:17,000 B Al 400 1 115,300 7,000 00 000 400 000 400
u27 B AT 000 | 65% |%&+:14,500 B AT 400 0% % +:11,300 4,500 00 000 400 000 400
U279 B AT 000 | 65% 115,000, £:13,000 =KD 400 [ 70 300, %:11,300 000 00 000 400 000 400
(B8 %[ _NU270 B AT 000 | 65% |H:13,000 EED 400 | 70 300 000 400 000 00 000 00
U274 B AT 000 | 65% |H:13,000 EED 400 | 70 300 000 400 000 00 000 00
U084 B AT 000 | 56% |H:17.800 EED 400 | 61 800 000 400 00 | 14,800 00 | 14,800
U280 B AT 000 | 56% |H:18500 EED 400 | 61% |H:15300 000 400 00 00 00 00
12 = ih#E (IRER) [HEES U051 S 00 | 52% [£+:14.200 B AL 00 | 55% [£+:13.300 4,200 00 00 00 00 00
0 BAT 00 | 52% |#+:14,200 B Al 00 | 55% |#+£:13,300 4,200 00 00 00 00 00
uo! B AT 00 | 55% |£:13,600, £:13,000 EED 00 | 56% |%:13100, £:12,500 000 00 | 12,500 | 12,000 | 12,500 | 12,000
0 B AT 00 | 55% |%:14,600, H:14,000 EED 000 | 56% |:14,100, H:13,500 500 000 | 14,000 00 | 14,000 00
0 B AT 00 | 55% |%:14,600, H:14,000 EED 000 | 56% |%:14,100, H:13,500 500 000 | 14,000 00 | 14,000 00
0 BT | 14000 | 49% |#H:14,600, +:13000 B AT 500 | 51% |#H:14,100, +:12500 | 13,000 00 | 14,600 [ 14,100 | 14,600 | 14,100
ErIEEES EED 00 | 55% |&+:13,600 B AT 000 | 56% |#+:13,100 00 00 | 12,500 | 12,000 | 12,500 000
EED 00 | 55% | +:13,600 B AT 000 | 56% |4 ,100 600 | 13,100 | 12,500 | 12,000 | 12,500 000
B Al 00 | 52% |[£H:14,200 EEi 00 | 55% |4 300 00 00 | 14,200 00 | 14,200 00
B Al 00 | 52% |#H:14,200 EED 00 | 55% |4 300 00 00 | 14,200 00 | 14,200 00
B Al 00 | 52% |£H:14,200 EED 00 | 55% |4 00 00 | 14,200 00 | 14,200 00
B Al 00 | 52% |#H:14,200 EED 00 | 55% |4 00 00 | 14,200 00 | 14,200 00
RRCHE)=FHE [KRRCABH BT 00 | 63% |&+:25000 B Al 900 | 63% |9 ,000 00 00 ,900 00 00
B Al 200 | 68% |&+ H:19.900 B AT 100 | 68% |4 ,900 | 20,800 | 19,900 00 900 00
& B Al 700 | 62% |H:25100 B AT 600 | 62% ,700 | 22,600 | 26,100 00 00 00
RRCHHE)=E#4 [RRCAB% BT 900 | 66% | 1:20,900 B &l ,800 | 66% ,900 | 21,800 ,900 00 00 00
Eh BT 100 | 69% | H:20,300 EE 000 | 69% 100 | 17,000 ,300 00 00 00
AMR (BAEE) =RiE |XMR(EHE) % B AT 000 % £:21,000 BAT | 17,500 000 | 20,500 000 00 000 00
5 B Al ,000 H:21,000 BAT_| 17,500 ,000 | 17,500 000 | 20,500 000 | 20,500 |
INEY= b (IR ER) B AL ,000 24 H AL ,000 000 000 ,000 ,000 | 20,000 | 16,000
F EED ,000 & B AT ,000 000 000 | 23,000 000 | — ——
2 E (PE) = (B |2 5B (P& %[ _NU251 B AT 300 % B AT 800 00 00 | 19,300 | 18,800 | 19,300 | 18,800
EED 00 0% | & B AT ,800 :23,300 00 00 | 19,300 | 18,800 | 19,300 | 18,800
EEil ,300 B AT 800 A% £:19.800 1500 | 21,500 | 18,300 | 17,800 | 18,300 | 17,800
EED 000 BAT | 14500 [ 62 000 | 14,500 000 | 14,500 000 [ 14,500
(R ER) %[ _NU EED ,000 BAT | 14500 [ 62 000 | 14,500 000 | 14,500 000 | 14,500
=] ﬁTj 00 0! 1:18,200, H:22,800, 1/7:18,000 =] ﬁfj 700 52 1:17,700, B:22,300, 1/7:17,500 00 7,700 00 00 00 00
B Al 200 0% | £:18,200, H:22,800 B AT ,700 00 | 17,700 00 00 00 00
EED 00 0 B AT ,700 00 | 17,700 00 00 00 00
FEl Ly = i (AR &) e L1y 5 B AL 400 | 46 EE 400 — — 400 00 00 00
(8 % EEi 400 | 46% BAT | 17,400 18,400 | 17,400 | 21,400 | 20400 | — ——
SR GRER) =R1E  |HEGRER R H#il | 8600 H#il | 8200 8600 | 8200 | 8600 | 8200 | 8600 | 8200
BAl | 8600 BAl | 8200 — — - - — -
BA1 | 12,800 BE1 | 12400 12,800 | 12,400 | 12,800 | 12,400 | 12,800 | 12,400
BAT | 8.600 BAT | 8.200 8600 | 8200 | 8600 | 8200 | 8600 | 8200
u BAl | 8600 /758 BAl | 8200 /758 — — — — — -
u BAT | 8.600 /784K BAT | 8.200 /784K 8600 | 8200 | 8600 | 8200 | 8600 | 8200
u BAT | 8.600 BAT | 8.200 8600 | 8200 | 8600 | 8200 | 8600 | 8200
RAC705 | 28H AT | 8,600 P AR 1 BAT | 8200 KK.Z B B — — 600 | 8200 | — —
Bl 00 BAT | 8.200 600 | 8200 | 8600 | 8200 | 8600 | 8200
BAT | 8.600 BAT | 8.200 ,600 | 8200 | 8600 | 8200 | 8600 | 8200
RIER U60 BAT | 8.600 BAT | 8.200 ,600 | 8200 | 8600 | 8200 | 8600 | 8200
U604 BAl | 8600 BAT | 8.200 ,600 | 8200 | 8600 | 8200 | 8600 | 8200
U60 BAT | 8.600 BAT | 8.200 ,600 | 8200 | 8600 | 8200 | 8600 | 8200
U6o B8 T 8,600 B8 | 8200 ,600 | 8200 | 8600 | 8200 | 8600 | 8200
u Bl 00 1/7 585 Bl 00 /7585 — - — - — -
U614 B AT 800 B AT 400 | 46 800 | 12,400 | 12,800 | 12400 | 12,800 | 12,400
u B AT 800 B AT 400 | 46% ,800 | 12,400 | 12,800 | 12400 | 12,800 | 12,400
EED 800 B AT 400 | 46% ,800 | 12,400 | 12,800 | 12400 | 12,800 | 12,400
EED 800 B AT 400 | 46% ,800 | 12,400 | 12,800 | 12400 | 12,800 | 12,400
B Al 800 /7584 Bl 400 | 46% [1/738#0 - - —— - —— -
EED 800 1/7584K EED 400 | 46% | 1/7.384K 12,800 | 12,400 | 12,800 | 12,400 | 12,800 | 12,400
B A 800 B AT 400 | 46% 12,800 | 12,400 | 12,800 | 12,400 | 12,800 | 12,400
8,600 P AR 1 BAT | 8200 4% | NoKE. BB — — | 8600 [ 8200 | — —
BT | 8,600 BAT | 8200 4 8600 | 8200 | 8600 | 8200 | 8600 | 8200
PRERE;) ==h  [HEER R Bl ,200 6 B #iL ,000 7 ,200 ,000 ,200 ,000 ,200 ,000
B 200 | 36% B AT ,000 7 1200 | 11,000 | 11,200 | 11,000 | 11,200 | 11,000
B 200 | 36% B AT ,000 7 1200 | 11,000 | 11,200 | 11,000 | 11,200 | 11,000
Bl 1200 | 36% B AT 000 7 1200 | 11,000 | 11,200 | 11,000 | 11,200 | 11,000
BT | 7400 | 58% BAT | 7200 [ 59 7,400 | 7,200 | 7,400 | 7.200 | 7400 | 7.200
BT | 7400 | 58% [1/738fk BAT | 7200 | 59% [1/738fk 7,400 | 7,200 | 7,400 | 7.200 | 7.400 | 7.200
Bl | 7,400 | 58% |1/7.&fn BRIl | 7200 | 59% |1/7.8f1 — - - - - -
BT | 7400 | 58% BET | 7200 | 59% 7,400 | 7,200 | 7,400 | 7.200 | 7400 | 7.200
BT | 7400 | 58% BET | 7200 | 59% 7,400 | 7,200 | 7,400 | 7,200 | 7400 | 7,200
EBEES BT | 11,200 | 36% BET | 11,000 | 37% 11,200 | 11,000 | 11,200 | 11,000 | 11,200 | 11,000
B | 11,200 | 36% BET | 11,000 | 37% 11,200 | 11,000 | 11,200 | 11,000 | 11,200 | 11,000
BT | 7400 | 58% BET | 7200 | 59% 7,400 | 7,200 | 7,400 | 7.200 | 7400 | 7.200
BT | 7400 | 58% BET | 7200 | 59% 7,400 | 7,200 | 7,400 | 7,200 | 7400 | 7,200
Bl 00 | 36% B AT 000 7% 11,200 | 11,000 | 11,200 | 11,000 | 11,200 | 11,000
] 00 | 36% [1/738fk B Al 000 7% |1/7.584K 11,200 | 11,000 | 11,200 | 11,000 | 11,200 | 11,000
B 00 | 36% |1/7.38f1 B Al 000 7% 1/738f1 - - - —— - -
BT | 7400 | 58% BET | 7200 | 59% 7,400 | 7,200 | 7,400 | 7.200 | 7400 | 7.200
BT | 7400 | 58% BET | 7200 | 59% 7,400 | 7,200 | 7,400 | 7,200 | 7.400 | 7,200
BH=FhiE TS 18| 8900 25% [1/758ff HAEl | — = = = = = = =
1B | 8900 | 25% |1/7:5700 BAT | — — [1/7:5,300 8900 | — | 8900 | — [ 8900 [ —
18T | 8900 | 25% HAl [ — — 8900 | — | 8900 | — [ 8900 [ —
RER IR | 8900 | 25% |1/7.3@f B — — — — — — — —
BT | 5700 | 52% Bl | 5300 | 55% 5700 | 5300 | 5700 | 5300 | 5700 | 5300
3 25% B — — 8900 | — | 8900 | — [ 8900 [ —
R GRER) =ARE | GRER) R 7 B 7. 36% — 7.600 7600 [ — | 7600 | —
RAC87: BET | 7600 | 36% — 7,600 7600 | — | 7.600 | —
RAC87! BET | 7600 | 36% — — — 7600 | —— | 7,600 | — | 7600 | —
NU211 BET | 8400 | 29% — 8,400 8400 | —— | 8400 | —
RAC877 BRIl | 7.600 | 36% |1/7.38# — - - - - —
RAC87! BET | 7600 | 36% — 7,600 7600 | — | 7.600 | —
| RAC88 BET | 7600 | 36% — 7,600 7600 | — | 7.600 | —
RAC88: BAT | 7600 | 36% [1/738fk — 7,600 7600 | — | 7.600 | —
AXKESH | RACST. H#l | 7.600 36% — 7.600 7,600 [ — 7.600 [ —
RAC874 BET | 7600 | 36% — 7,600 7600 | — | 7.600 | —
RAC876 BT | 7600 | 36% — 7,600 7600 | — | 7.600 | —
NU212 BET | 8400 | 29% — 8,400 8400 | —— | 8400 | —
RAC878 BRIl | 7.600 | 36% |1/7.8# - - — — - -
RAC870 BET | 7600 | 36% — 7,600 7600 | — | 7.600 | —
| RAC882 BET | 7600 | 36% — 7,600 7600 | — | 7.600 | —
RAC884 BT | 7600 | 36% [1/7:8fk — 7,600 7600 | — | 7.600 | —
ShHB(RER) =53k  [h#(BRE) %[ RACSI HBI | 10,800 — 0.800 0800 | — 0800 | —
5Ems RACS1 H#i_| 10,800 — 0,800 0800 [ — 0800 [ —
SRR (IRER) =|EKE |48 GBF) 5| RACSS! H#il | 17,600 — — — 7,600 | — 7,600 | — 7,600 | —
EEKES | RACS54 HAl | 17,600 — 7,600 7600 | — 7600 | —
PR (B =5HE [ (BB | RACT21 H#i | 15800 1/1584%k — 5,800 5800 | — 5800 | —
SIES | RAC724 | 28HBI | 15800 | 50% |1/7.38{K - — — 15800 | — | 15800 | -—— | 15800 | -——-
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1/7-11, 1/15-31 1/12 | 1/13 | 1/14
FH _—
o BE |maom| xa 220 s B | B | B
R CHE) =4 (&) | A#EG8&EH)FK [ NUo4 | 55HHFT | 13,700 66% 13,700 | 13,700 | 13,700
NU078 | 55HBI | 15,500 62%  H:19,000 15,500 | 19,000 | 19,000
KRR (BE7E) =& (FBFR) | KBx (BFE)F | NU273 | 55H7F1 [ 12,800 63% £+:13,800 13,800 | 12,800 | 12,800
NU277 | 55HBI | 9,800 71% 9,800 | 9,800 | 9,800
NU279 | 55HBI | 9,800 71% 9,800 | 9,800 | 9,800
8 () | Nu270 | 55HAT | 9.800 71% 9,800 | 9,800 | 9,800
NU274 | 55HBI | 9,800 71% 9,800 | 9,800 | 9,800
NU084 | 55HBI | 12,800 63% | H:13,800 12,800 | 13,800 | 13,800
NU280 | 55HBI | 12,800 63% | H:13,800 12,800 | 13,800 | 13,800
&k = hiE (H) EEEES NU051 | 55HBI | 11,800 57% |&+:12,800 12,800 | 11,800 | 11,800
NU053 | 55HBI | 11,800 57% £ +:12,800 12,800 | 11,800 | 11,800
NU057 | 55HBI | 11,300 59%  |£:12,400, 1t:11,800 11,800 | 11,300 | 11,300
NUO61 | 55HBI | 9,800 64% |£:13,300 9,800 | 9,800 | 9.800
NU063 | 55HBI | 9,800 64% |2£:13,300 9,800 | 9,800 | 9,800
NU065 | 55HBI | 12,800 53% |2 H:13,400, %:11,800 11,800 | 13,400 | 13.400
h#2(IRE) F [ NUos0 | 55HFT | 11,300 59% £ +1:12,300, H:9,800 12,300 | 9,800 | 9,800
NU052 | 55HBI | 9.800 64% |2 +:12.400 12,400 | 9,800 | 9,800
NU054 | 55HBI | 11,800 57% £ H:12,800 11,800 | 12,800 | 12,800
NU056 | 55HBI | 11,800 57% £ H:12,800 11,800 | 12,800 | 12,800
NU060 | 55HBI | 11,800 57% £ H:12,800 11,800 | 12,800 | 12,800
NU062 | 55HBI | 11,800 57% £ H:12,800 11,800 | 12,800 | 12,800
HECHHE)=HRiE RRECHE)F [ NUo71 | 558HT | 19,800 67% & 1:24,800 25,800 | 19,800 | 19,800
NU073 | 55HBI | 17.800 70% #+H:19,700 20,700 [ 19,700 | 19,700
A% NU078 | 55HBI_| 19.800 67%  H:24,900 19,800 | 25,900 | 25,900
RR(PH) =BG HR CHE) % | Nuo21 | 55HAT | 17,800 68% & 1:20,400 21,400 | 17,800 [ 17,800
= NU022 | 55HBI | 16,800 70% _ H:19,800 16,800 | 20,300 | 20,300
KBy (BiE) =H1iE KBz (B8FE) % [ NUos3 | 55HHI | 16,500 66%  £+:19,200 19,200 | 16,500 | 16,500
18 % NU084 | 55HBI | 16,500 66% | H:19,200 16,500 | 19,200 | 19,200
BHE (FE) =i (B | L HE (FER) F|_NU251 | 55871 [ 16,000 59% & 1:21,000 21,000 | 16,000 | 16,000
NU253 | 55HBI | 16,000 59% £ +:21,000 21,000 [ 16,000 | 16,000
NU255 | 55HBI | 9,800 75% A% +:11,800 19,500 | 11,800 | 11,800
NU257 | 55HBI | 8,800 77% _%:9.800 8,800 | 8800 | 8,800
8 (FRE) F | NU252 | 55HAT | 9,800 75% 9,800 | 9,800 | 9,800
NU254 | 55HBI | 16,500 57% | H:20,400, 1/7:12,800 16,500 | 20,400 | 20,400
NU256 | 55HBI | 15,500 60%  H:19.900 15,500 | 19,900 | 19,900
NU258 | 55HBI | 15,000 61%  H:19.900 15,000 | 19,900 | 19,900
iR (IR =R/1E 8 () | Nueo1 | 55HAT | 7.800 66% 7,800 | 7.800 | 7.800
NU603 | 55HBI | 7.800 66% |1/7.38fi1 — — —
NU605 | 55HBI | 11,800 49% 11,800 | 11,800 | 11,800
NU609 | 55HBI | 7.800 66% 7,800 | 7.800 | 7.800
NU613 | 55HBI | 7.800 66% |1/7.38f — — —
NU615 | 55HBI | 7.800 66% 1/7.81k 7,800 | 7.800 | 7.800
NU619 | 55HBI | 7.800 66% 7,800 | 7.800 | 7.800
RAC705 | 55B i _| 7,800 66% KK B Ef e 7,800 —
NU621 | 55HBI | 7.800 66% 7,800 | 7.800 | 7.800
NU625 | 55HBI | 7.800 66% 7,800 | 7.800 | 7.800
RiEH NU600 | 55HBI | 7.800 66% 7,800 | 7.800 | 7.800
NU604 | 55HBI | 7.800 66% 7,800 | 7.800 | 7.800
NU606 | 55HBI | 7.800 66% 7,800 | 7.800 | 7.800
NU608 | 55HBI | 7.800 66% 7,800 | 7.800 | 7.800
NU612 | 55HBI | 7.800 66% |1/7.38f1 — — —
NU614 | 55HBI | 11,800 49% 11,800 | 11,800 | 11,800
NU616 | 55HBI | 11,800 49% 11,800 | 11,800 | 11,800
NU084 | 55HBI | 11,800 49% 11,800 | 11,800 | 11,800
NU622 | 55HBI | 11,800 49% 11,800 | 11,800 | 11,800
NU624 | 55HBI | 11,800 49%  1/758#1 — — —
NU626 | 55HBI | 11,800 49%  [1/1581k 11,800 | 11,800 | 11,800
NU078 | 55HBI | 11,800 49% 11,800 | 11,800 | 11,800
RAC708 | 55HEi | 7,800 66%  |K.IK.ZE. B Ef e 7,800 —
NU628 | 55HBI | 7.800 66% 7,800 | 7.800 | 7.800
HRER) =G s () | NU551 | 55HAT | 10,500 40% 10,500 | 10,500 | 10,500
RAC801 | 55HBEI | 10,500 40% 10,500 | 10,500 | 10,500
NU557 | 55HBI | 10,500 40% 10,500 | 10,500 | 10,500
NU561 | 55HBI | 10,500 40% 10,500 | 10,500 | 10,500
NU565 | 55HBI | 6,800 61% 6,800 | 6,800 | 6.800
NU567 | 55HBI | 6,800 61% 1/738% 6,800 | 6,800 | 6.800
NU569 | 55HBI | 6,800 61%  [1/7.38f1 — — —
NU571 | 55HBI | 6,800 61% 6,800 | 6,800 | 6.800
NU573 | 55HBI | 6,800 61% 6,800 | 6,800 | 6.800
= NU552 | 55HBI | 10,500 40% 10,500 | 10,500 | 10,500
NU556 | 55HBI | 10,500 40% 10,500 | 10,500 | 10,500
NU558 | 55HBI | 6,800 61% 6,800 | 6,800 | 6.800
NU562 | 55HBI | 6,800 61% 6,800 | 6,800 | 6.800
NU564 | 55HBI | 10,500 40% 10,500 | 10,500 | 10,500
NU566 | 55HBI | 10,500 40%  [1/7581k 10,500 | 10,500 | 10,500
NU570 | 55HBI | 10,500 40%  1/758#1 — — —
NU572 | 55HBI | 6,800 61% 6,800 | 6,800 | 6.800
RAC804 | 55HBET | 6,800 61% 6,800 | 6,800 | 6,800
BEo=hiE g RAC834 | 55HI [ —— —— 1/7:4900 — — —
aiEH RAC834 | 55HF1 | 4.900 59% 4900 | 4,900 | 4,900
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r 7H~31

EEERE 2012/10/30
1/7-11.1/15-31
5MTA
XA L) = <
EHH FH EBH
AR waix i AME U g i
KR (B =188 KR (FAF | JIN2321 900 52% _1/7.1/19-201/26-273845 — — —-
IN2323 900
BER [ UN2322 900 1/7.1/19-20,1/26-273845
IN2324 900 —
KR () =HE RIR () % | _IN2341 ,000
[ UN2343 12,000 38%  H:7.000
[ UN2347 12,000 38%  H:8,000
[ UN2351 9,000 53%
[ UN2355 9,000 53%
JIN2357 7,000 64%
HERE | IN2342 7,000 64% 000
[ UN2346 8,000 58% 000
[ UN2350 8,000 58% 000
[ UN2354 10,000 48% 000
[ UN2356 12,000 38% 0,000
JIN2358 7,000 64% —
KR () =i AR (R % | IN2335 100 46% —
ETE JIN2336 100 46% —
KR () =ERE KR (BT [ JIN2401 500 53% 13,000, B:12,000, /7385 458 500, B:11,500, 1/738Hk
[ UN2403 500 50% 000 458 500
[ UN2407 500 50% 000, 1/78fk 458 500 1/78fk
[ UN2409 500 50% 000 458 500
IN2411 500 53% 113,500, +:13,000 458 000
IN2415 500 53% £ H:13000 458 500
IN2419 000 51% 113500, £:12,500 458 +13,000, £:12,000
ERBR JIN2400 000 55% _ +:13000 458 t:12,500
[ UN2402 000 55% T 458 1,500, 1/758%k
JIN2404 000 55% 458
[ UN2406 000 55% I 458 /T
IN2410 000 42% _ £:15500 458 115,000
IN2412 000 42% _ £:15500 458 5,000
JIN2414 000 51%  £:15000. A:14,500 458 4,500, A:14,000
KR () =1EF8 AR (FF S | IN2457 000 39% /738 —
FBE JIN2458 000 39%  1/738f
KR () =BAB AR (% | IN2453 700 42%
EABS JIN2450 700 42% —
HE=E% S JIN3433 8,500 31%
ECE JIN3434 500 31%
EE=HE fams% | JN3551 700 3%
JIN3557 200 36%
HERE | JIN3550 200 36% ;
JN3558 700 3% 200
BE=1{8 EES [ JUN3561 000 39%
JIN3567 000 39%
maR [ JN3560 000 39%
JIN3568 000 39%
1B =m0 BRI JN3585 500 22%
B JIN3584 500 22%
B =0 EES [ JUN3591 000 42%
[UN3593 500 16%
[ UN3595 500 26% T A:16,000
[ UN3597 000 23%
[ UN3599 500 25%
JIN3601 500 16%
FALSE | JUN3590 7,500 16% A A:14,000
[ UN3592 5,000 28%
[ UN3594 6,500 21%
[ UN3596 7,500 16%
[ UN3598 6,000 23% _ £:13000
JN3600 6,000 23% _ :13000
EHEEEE] BE%E [ _JN3621 7,000 7 7
[UN3623 7,000 7 7
[UN3625 7,000 7 7
[ UN3627 7,000 7 7
[ UN3629 7,000 7 7
[ UN3631 7,000 7 7
[ UN3633 7,000 7 7
[ UN3635 7,000 7 7
[ UN3637 7,000 7 7
JIN3639 7,000 7 7
BERE [ _UN3620 7,000 7 7
[ UN3622 7,000 7 7
[ UN3624 7,000 7 7
[ UN3626 7,000 7 7
[ UN3628 7,000 7 7
[ UN3630 7,000 7 7
[ UN3632 7,000 7 7
[UN3634 7,000 7 7
[ UN3636 7,000 7 7
JN3638 7,000 458 [ [
BE=ERS EES [ JUN3643 500 1 H:6.600 —
JIN3653 500 49% T H:6600
ERBE [ _JIN3648 500 49% 1 H:6.600
JN3658 500 54% 1 66,600 —
EE=EAS 1) JN3671 800 46%
EABR JIN3670 800 46%
BE=EXXS 1) JN3681 800 41%
BEABRE | IN3680 800 41%
EREB=HL ERBR JIN3687 500 40%
AL JIN3686 500 40%
ERB=TTH BRBE | UN3761 800 54%
[UN3763 500 33%
[ UN3769 500 33%
JIN3775 500 33%
BFEE [ _JIN3760 500 33%
[UN3762 500 33%
[UN3768 500 33%
JIN3774 500 33%
ERB=EAL ERBR JN3741 500 46%
JIN3745 10400 25%
[UN3749 10,400 25%
JIN3759 7.500 46%
BABR J 9,400 32%
J 9,400 32% 1/7:8f1 —
J 9,400 32% 1/7:Bk
[J 400 25%
JIN3758 400 25%
ERB=ERE ERBE [ JUN3781 400 33% — —
JIN3785 900 30% — —
ERBE [ _JIN3780 900 30% — —




° 48 ¥ JAC
[R—N—%BIEEXR(1A7B~31BBES)
ESEAA 2012/10/30
N 1/7-11,1/15-31 1/12 1/13 1/14
Fi _—

B B2 \wagm| mma  BEE e EEE | EEE | EEE
KR (R =EREE KB (7 % [_JUN2401 | 55HAET 11,400 57% % 1£:11,900, H:10,900, 1/7:&E{k 11,900 10,900 10,900
JN2403 | 55H Al 12,400 54% |2 1:13,800 13,800 12,400 12,400

JN2407 | 55H A0 12,400 54% | 21£:13,800, 1/758{k 13,800 12,400 12,400

JN2409 | 55H Al 12,400 54% |2 1:13,800 13,800 12,400 12,400

JN2411 | 55H A0 9,800 63% 2,400 9,800 12,400 12,400

JN2415 | 55H Al 9,800 63% & H:11,900 9,800 11,900 11,900

JN2419 | 55H Al 11,900 56% |2 H:12,400, £:11,400 11,400 12,400 12,400

BREH JN2400 | 55H Al 9,800 63% | t:11,900 11,900 9,800 9,800

JN2402 | 55H Al 9,800 63% | 1:11,000. 1/75Ek 11,000 9,800 9,800

JN2404 | 55HBI | 10,000 63% | H:11,000 10,000 11,000 11,000

JN2406 | 55HBI | 10,000 63% | H:11,000, 1/75&{k 10,000 11,000 11,000

JN2410 | 55H Al 13,800 49%  |£:14,300 13,800 13,800 13,800

JN2412 | 55H Al 13,800 49%  |£:14,300 13,800 13,800 13,800

JN2414 | 55H Al 11,900 56% |%:13,800. H:13,300 11,900 13,300 13,300

B =25 FES JIN3621 | 55HE) 5,000 75% 5,000 5,000 5,000
JN3623 | 55H Al 5,000 75% 5,000 5,000 5,000

JN3625 | 55H Al 5,000 75% 5,000 5,000 5,000

JN3627 | 55H Al 5,000 75% 5,000 5,000 5,000

JN3629 | 55H Al 5,000 75% 5,000 5,000 5,000

JN3631 | 55H Al 5,000 75% 5,000 5,000 5,000

JN3633 | 55H Al 5,000 75% 5,000 5,000 5,000

JN3635 | 55H Al 5,000 75% 5,000 5,000 5,000

JN3637 | 55H Al 5,000 75% 5,000 5,000 5,000

JN3639 | 55H Al 5,000 75% 5,000 5,000 5,000

EEES JN3620 | 55H Al 5,000 75% 5,000 5,000 5,000

JN3622 | 55H Al 5,000 75% 5,000 5,000 5,000

JN3624 | 55H Al 5,000 75% 5,000 5,000 5,000

JN3626 | 55H Al 5,000 75% 5,000 5,000 5,000

JN3628 | 55H Al 5,000 75% 5,000 5,000 5,000

JN3630 | 55H Al 5,000 75% 5,000 5,000 5,000

JN3632 | 55H Al 5,000 75% 5,000 5,000 5,000

JN3634 | 55H Al 5,000 75% 5,000 5,000 5,000

JN3636 | 55H Al 5,000 75% 5,000 5,000 5,000

JN3638 | 55H il 5000 75% 5000 5000 5000
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